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Imporiant Instructions :

The Answer Sheot i8 inside this Test Booklet. When you
are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Bide-2 carcfully with blue/black ball point pen only,
The test iz of 3 howurs duration and Test Booklet
contmins 180 questions, Ench question carries 4 marks.
For each oorrect response, the candidate will get
4 marks, For each incorrect one mark will be
deducted from the total scores., maximum marks are
T20,

Use Blua/Black Ball Point Pen only for writing
particulirs on this poge/marking responses.

Rough work ta to be done on the space provided for this
purpose in the Test Booklet anly

. Omn completion of the test, the candidate must

hand over the Answer Sheet to the Invigilator
before leaving the Room™all. The candidates are
allowed to take away this Test Booklet with them.

The CODE for this Booklet is EE. Make sure that the
CODE pnnted an Side-2 of the Answer Sheet is the
same ag thai on this Test Booklet. In case of discropancy,
the eandidate should immediately report the matter to
thia
and the Answer Sheet.

The candidates should ensure that the Answer Sheot is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Holl No. anywhere else excopt
in the specified space in the Test Booklet/Answer Sheet.
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(., Ten A o s appet Bt @ e 5E Lrma At what temperature will the rms speed  of
oy gl % AEEUEE + oA % W & foo wm oxygen  moleciles become just sufficient for
e T = o ? ezcaping from the Barths atmosphere 7
Y . [ Given :
7w 3 ne ! "
i Mags of wxygen molecals {m)=2-T6 x 10 kg
el T A =em () = 276 = 107 kg . ns o
3 = Boltzmann's constant kg = 138 % w=4dK )
i T kg = 136 x 17 T ) ('{E; ; i
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(3} B860% 10° K |
4) 1464x 10K
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2 The volume (V) of a monatomic gas varies wit

g, Feht oS fim % sroad (V) B A () ‘ts tamperature (T), as shown in the graph. Th
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A vmesallic rod of moss per unit length
0-5 kg m ' i« lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod iz pot allowed to elide
down by flowing a eurrent through it when a
magnetic field of induction 0-25 T is acting on it

in the veriical divection. The eurrent flowing in

the rod to keep it stationary is
(1) T14 A

(2 1475 A

(3 HYE A

L raEaA

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 1 are connected in Series across @
souren of emf, W= 10 sin 314 t. The PO ET EI:IHHE

the circuit is i g
(L 07w A el
} 094 W Elﬁ
|2y g |
Hﬁ wb E‘

@) W A\ —

, s Y
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Current sensitivity of a moving coil galvanometer
i 5 divwimA and ifs voliage sensitivity (angualar
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(i) 400 5- el v
250 £1 —7 wh
(3 260 JS)_L_.I’J! Jﬁ"‘qw
i4) 50O L
2%

A thin diamagnetic rod’ is plaged wvertieally
hatween the poles of an electromagnet, When the
earrent in the electromagnet = switched on, then
the diamegretic rod is pushed up, sut of the
horizontal magnetic field. Hence the rod gains
gravitationn] potential energy. The
required to do this comes from

work

i1} the current souree

(21  the lattice structure of the material of the

riwd
(3] o magnetic field
the |nduced electric fiedd due to the

changing magnetic field
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' fam i I 5[, fEm s |"!r'i'| 20 ."rf.vEl.. In Ehe circolt sheown in the fgure, the input
Vi = 0878 Vop =08 | 15 J0 50 |15 519 78 voltage V, is 20 ¥, Vg = 0 and Vo = 0. The
90V valuea of 15, ][ and fiare given by
. 20V
R P !
By < 4 kG
¥ ,—t{ﬁ’-u R 2 4 k0
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- y
! B AN
.ﬂﬂkﬂ /
. ; "B ‘}Eﬂ, 'J{)}a{}a 500 ko .
=
¥ A
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"""P;LP 8 B
{ = =10 f = 250 -~ 3
1} Ig=40pA, Ic=10mA, | W e TiEY
{2 W = 5 . H= 250
2} Ip=20pA, Ie=5mh, =25 ,-‘;('J (2} dg =20 WA, Io=5mA, =250 L
: o ] .- A m 200 15 .
(3 Iy=25pA, lep=5mA, fuil n ,% o Ip =25 uX, T- =6 mA, ;:.:_'__1:1_]_'.{:-
4 Ip=40pA, l,=6mA, p=125 e?-;]:,ﬂ (4} Tp=40pA, Ip=56mhAy e 125 24

10. Taa 4 F'E_"{ i) 2 & o o B oy = fEen A sl 10, In the combination of the following gates the
B & 7 1 79 WHE =6 ] = a5 1 putput ¥ can be written in terms of inputs A and
B as
Aw .
. o % : £ — :,_P"T'-"
e = i
< T ¥
N -
| he
 — tl-
(1) A.B g - . 0.
(1§ JAB Rl 3
i) ! A.B +a{B z
) (2 [A.B +A B
(3} + A LB = =
M .B+A.B
fdh A+ B
) A+B
11. & pon Al 2@E © m g9 8 am o afEda il "In a pn junction diode, change in temperature
(1) E!T:l'ﬁ i [h#_:l '!il'ﬁ'l'-"I'EI'EI-'TI ‘_EI'I'I'I'I-?.'FT PRt $ I IIIII:'- ll.l hLH.‘I.II'I.h [
(5 p.nnﬁr % bk & AR {17 affects only reverse resistance
B (21 does not affect resistancs of p-n junction
(3) T wn ufeng = e e R 2 : :
(3} affects only forward resiztance
(£} pn wft & wHE Y - [ ST e s Mﬁuuis the overall ¥ — | characteristics of
B | p-n junction
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(3) walda wEm gfEm @ s @ fem o
HTHE, T e d
(4} :i=ta||'1[- If
Y,

13, @ % it waim &, Fid? & & goed d, 2 mm#
il @ w6 gl D w100 em v Fn A
A o= GHOE A ¥ TEW W I7E N R E | =
T i AR R wefn ded gooc R ) a9 (5 A el
D = fom) T o wiofty <= St 021° =6
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13.

{1} 1'8 mm

2y 21 mm
() 15 mm
4] 17 mm

14. Fef wivfs sl zeds w0 ey smds sfs
3w faves 7= @om, ol o st da 6

14.

(1) wen it wn sf = v e
(2)  wwa gl s i = = &
(@ s g e of = g #
i4

) wrEE T w5 i wm ae f

Unpolarsed light is incident from air on a plane
surfiace of o material of refractive index ', At a
partitnlar angle of incidence ‘7', it iz found that
the  reflected riys

perpendicular to  each other, Which of

following aptions is correet for this situation ?

and refracted are

the

1} Reflected light is polarised with ite electric
vortor parallel to the plane of incidence
£ 8 T U RA A
(2) i =sin™ | 'J ) Sina
H

Reflested light is polarised with its electric
vector  perpendicular to the plane of
incidanee

ST
4) _imtan | l
'Y

In ¥Young's double slit experimint the separation
d between the slits is 2 mm, the wavelangth A of
the light used is 5804 A and distance D between
the sereen and slite ia 100 em. Tt is found that the
angular width of the fringes is 0-20°, To increase
the fringe angular width to 0-21" (with same A
and ¥ the separation betwesn the glits peads to
be changed to

{1} 18 mm

(2} 21 mm

M-!i mm Hu s S.L

{4) 2 1-T mm

An astronomical refracting telescope will have

large angnlar mﬂ@c‘::‘!tiun nnel hi-g:'h nngular
] an il

resolulion, when it has an -.1“:'- of
Ber—————

{1}  =mall focal length and large diameter

(2} large focal length and large diameter

MJ;EE focal length and small diameter

(4} asmall focal length and small diameter
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(1 1:1 l.;:l.";:- .
(2 2:-1
{31 pl:=1
4) §1:=2

w el u % 92w WEf o2y (g v SEE
sgf &) o1 v e w0 R, @ e et
w atfisrem @ v, ® | W9 smfaa fake & smaf
WEr Gy, o & W R, ot 3 9= A I
TR 1 WiUEA AN v, B R ) v, 30w, W

T #

(1) 1:2 w1
(2 4:1 -m,,"i-

(3 1:4 e
4 2:1 e

f_ﬁo{.

18,

15,

1.

An

—3

‘!.:. =l|||'r|:I -I
Fl,

electron of maszs m with an imitial velacity
(Ve =00 enters an elecirie field

Fo= {Ep = constant >.0) at L = 0. If A is

its de-Broglies wavelength imitially, then its

de-Broghe wovelength at time £ iz
. = A ¢
J : a= 1=
P | .
(21 Ny 6 e
p . ".E.l' t1 ||'__'.

A " - —_— S
T, d \h-wLu..-'L"'-u

Yy

b Ag

For n
10 1
nuclei,

radicactive material, hall-life is
minutes. If initially there are 600 number of
the time Laken Tin minutes) for the

disintegration of 450 nuclel is
bm"ﬁ

(2) 30
(3 10
£ 1B
The ratio of Kinetic onergy to the total energy of
an electron in a Bohr orbit of the hydmogen atom,
is
(1 Eal
e 2r=1
__ﬁf)""’i A
41 1:=-2

When the hght of frequency 2w, (where v, i3
thresheld frequency), iz incident on a metal
plate, the maxmimum velocity of electrons emitted
iz v;. When the frequency of the incident
radiation is increased to Gy, the maximum
velocity of electrons emitted from the same plats

i8 vy ':he ratio of vy to vy 18 a

(" 1:2 wig = Y a7

() 4:1 Uive = i

(3 1:4

(4) 2:1 -‘l" 1 e
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S AT

’{I‘%‘:i\‘t\b:, W = m o 7

19, % o 15 em WA 0 F E aEsa o g
40 em zh o fw @ ) oft e e E o & e g
20 em wawElE W o ww, @ ukbie e i

v faentim # =om ?

(1) 50 cm 290 H & ﬁ

{2} 30 cm 200 & TG ' \ A‘ﬁﬂ&
58 " i

1 ¢m1"hT ; E _.E. I"-..' "\-1,'.
(4} 86 cm =9 F TH

el orm % e  amEREw 2 o B e =m
30" % | i % 9 sveds g A wn ow A
T Him 6 AW 2w e ) 6 e
T T A T WET 6 0 g (A A g
o qEidd BH & gea) 3 9w W A =iz mm,
Te fisn W S v o A

i1y e
1 -1
i3} 4b°
4) =

21, ¥ Rrg gt wo Flt mem A A v = Vi @
T w R R e o e Wi o
Fm i e +y 79 5 agfm B W om
fer - i & g 6 S R R e

(1) -zt a‘:ﬂ?}
(2) —yim "'? -~
(3 ‘vz
(4) ~xFm
22, Pt = 8 60 mA & oW vfEs =03 w3 W g
Han TR T sl wm am 25 ml 2 1 W e
=1 e # -
(1) 0-138H LSA l’?
(2 1-339H @#V’)
(3) 13883 H Wrﬁ
4) 1389 H

e
16
g,

An shject i= placed at a distance of 40 em from a
coneave nupror af focal lemgth 15 em. If the object
iz dizsplaced through a distanes of 20 cm towards
the mirror, the displacement of the image will he
(13 30 em away from the mirror A\
G e

(2) - 80¢m towards themirror % = 1, 1®
(3 98 cm away from the mm;'\' S = :l._,r
(4] 36 cm towards the mirror ﬁ.; 'k!.a

%0, [The refractive index of the material of & prism is

J2 amd the angle of the prism is 30°, One of the
two relracting surfaces of the prism i8 made a
; mirror inwards, by silver costing. A beam of
mencehromatic ight entering the prism from the
other face will retrace its path (after reflection
from the zilvered surface) if it= angle of incidence

an the prism s

L e
{2) 3
(3} 45°
) soro

&1, An em wave is propagating in 8 mediuom with a
—* -

valocity V = Vi . The instantansous oscillating

electric field of this em wave is along +y axis,

Then the direction of oecillating magnetic field of

. the eém wave will be slong &
i -z d_irEn:t.inn }L_’ 3 p
(&}, — ¥ direction
‘__;,'.L]""'+ z direction
4} —=xdirection

The magnetic potential energy stored in a certain
indpetor 2 256 m.J, when the current in the

inductor is 60 mA. This inductor iz of inductan

1) 0-138H 2CH 3 :;\i_’LE-E hﬂﬁ
(2) 1-889H

3 18888 H R

@~ 1380 H %’ -
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gq  FE 47t el wha o a, Sefisen § ST, 0t |23 A battery consists of a variable number ‘n’ of
g O= (wEm n e #) @ &0 R | @0 %| - identical cells (baving internal resistance T
2w T weh w1 oA g B B o e "‘[’ht‘:‘ l:?:- 'm“““dhl; _E“"“E’:'-d T:ﬁ
5 - _ %l o Lermiinale of the Bailory Gre SNOTT-CITCOIEed 3
FIE WF [ ¥ % die TE wE = gw 87 , :
: = = the current I is measupéd, Which of the graphs

o ¢ shows the correct relationghip between Iand n ?
) N | V . =
—{
W A .r"i| ;
0 == 1‘* ‘:_l,f
I = 1'_.': — 1§
A
2% '1‘ / -'}I" _‘ﬁ J |

[
ﬁ
3

L
+
{3 ! | I
» P
‘ o

i =+ | (A

1| ;
w | T
1\5/—}15. (4] H i .

94, ‘v wEEN i W e, N e e
® & iofEn § Baes lemf), ‘B M gt
aferire, R e deh | Wi k1 82h a e 24. A setof 'n' equal resistors, of value 'R each, are

gt [ B | @ o wiEdus w1 el e o g S connected in series to o battery of emf E' and
o Toem e oamn & @ a=f g = My 101 ® internal resistance B, The current drawn is L
Tt ww AR R Mow, the “n’ resistors are connected in parallel to

1-,:__[;_:;_ the same battery, Then the current drawn from

Wy rm wi . :'l battery beeomes 104, The value of'n’ is
{21 20 e 10

(3 W e - : : &itmn,:l
{h‘l: 2y 20 ]tj._‘_‘ p ol Al A £
4 @ J%;'E} @ 11 EE* n)
B5. (47 + 4-7) k02 whrE & e Fe-wes W, e 4y 8 ¥
Sm Aim s sfafm & | o w2

25. A carbon resistor of (47 £ 471 kL2 is o be marked

=1 HH B . ; \h' with rings of different coloors for its
(1 el — e — et -9t W W 1 D i identification. The colour code sequence will be
(2) e - w0 - e - g a (1) Violet - Yellow — Orange - Silver

(3 often — el - s -l o ‘_/m-(/::’_e_]lgw " Green — Vielet — GP].IJ.

4 B0 - - dE - e i3} Yellow - Vielet — Orange — Silver

(4] Green - Orange - Vielet — Gold
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za. foelt woiaE fpqga = s fdh o e @ fEw w A tuning fork i used to produce resonance in a
SR T ¥ Bm few & i ar] T glags tuhe, The length of the air column in this
; iy _ ) -] I tube can be adjusted by a varishle piston. At
1w i afe] fires g mEfe e o oasn room tempersture of 27°C two  successive
2 27°C =9 AW W ooy f AR M cm s resonances are produced at 20 e and 78 cm of
73 em TS T FaTT o ECE N R l_:ulumn length, H’t]n:r frequency r:l'Lt_:e tuning fork
s 3 H i A i# 320 Hz, the veloeity of sound in air at 27°C is
Toqe ot oAt 820 He kW s d mR s 270 W —
o [-]
Cul R
. 12 350 m'= E‘
1 a:
L 330 E_. (3} 330 mis iﬂﬁj{{;’_ﬂ.
(2) 350 mis ° =7 i
I:'_F,, ph (4) 200 m:
(3 339 m's
() 500 mis 27. The electrostatic force between the metal plates
i - of an isalated perallel plate capacitor C having a
27. W Q & FEh fgw O ow dofs @ & charge4Q and area A, is
dawe A Al ur £ TRl 6 e e e AF" independent of the distance between the
(1 u&mzﬁ#ﬂa#qﬂw%rﬁm J o —_- al [ th
; e s 4F  proportiomnl fo equare oot of the
12l m‘aﬁ 4R e a‘f"ﬁ"‘ * mi“hﬂ | diztance betwoen the plates,
F'E_'Ti ¢ ) _ (3) linearly proportional “to  the distance
(3 wizwmd & @ i g F e et between the plates,
Gl N l (4) inversely proportional o the distance
(4) i 6 W g S e R A | between the plates,

b Fire 3 2 : igtance h in a uniform and vertically upwar
:-EEI'IIJT g9-5% E ] ﬁﬁﬂﬁ B, b, e d o directed eloctric field E. The direction of electric
Frgndm = ot il wll o @l B field 12 now reversed, keeping its magnitude the
Iina = E wE b | e ol w8 Soween @ Tﬂ:e. ‘I:':tit:m" is ult-:::wea:ld[::t fall frhu:&]hreﬂ_, in 'ti_

= 4 g same vertical distance h. The time o
?H:ﬁ. ﬂ _Trf'ﬁﬁm T b 7 g ﬁ‘ﬂ ﬁ‘“ e | n‘r:-"- fall of the electron, in comparison to the time of
% fiet | fem o w6 e W ogeme oo el | fall of the proton is
Fer o R @ (1)  smaller
(1) =1 WT&L (2) A0 times greater
(2) 109 Hiiw @ L (3} Stimes greater
(3) ' 57F Al ML;LE‘[I]
(4) =|Ow
; ’ {28 A pendulum is hung from the roof of a
20. F wrew o S 39 vws ) wa @ wom f sl sufficiently high building and is moving freely to
WA AEd 2 i T ®4 o wr-de T W= and fro !|]-r.|: ulﬁlmpin harmonie oscillatar. Th_n:
e Rl R s 20 W T s W ?cmlu:llrgl:un of .the bob of the pendulaom is
14 < 2 2 m's” at a distance of 5 m from the mean
T 20 mds" B | e T e position. The time period of oscillation is
(1} 2ns (1) 2ms
(2} 28 {2y 25
2 C-
) e \_)J/j 3 l\
4} 1s 4) 1s
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ag, el i g fafwfm wfim P ¥ g woed, | g,
hy T tfamam F ffERE wET R Al n-‘r|
Ffwrew ® ww fafia = femr e &, Fead o aw

.EflnTTi'l‘hzi‘Fﬂcﬁﬁ'HEﬁﬁfﬂ'ﬁﬁﬁﬂ?ﬁﬁ.ﬁT

Tha power radintad by a black bedy is F and it
radiates maximom energy at wavelength, Ay If

the temperature of the black body i 00w

y changed so that it radiates maximum energy at
A% g fateim afEm of & 31 % | n® "F AW wavelength : Ao, the power radiated by it
(11 A becomes nP, The value of 0 18
i 3
1 .
o 28 3 L
81 [M@ Pt S T
. N A
@ = }14:: "{L
2 {3) % '1'"
; #1 — q 3 ?‘U‘ L
(4] ﬁ ri
. \ N ! (4 h_l._ _{_!_I,;"T | =z
31. & oW o9E Ed W w4 { of A & anTe ol mrE 258 5
# 1w AR 6 APWEFRE W AT A R AL TF (30, Twe wires are made of the same material and
i WTEESRR W UFeR A # | 3R == F oA have W":_ruﬁ volymd, The first wire has
A e i eroaa-sectional area A Bnd the =econd wire has
;EF;;%T;? :1' ;Ezqfﬁia;; q,ﬁ' % FH'; % 1J--‘u-a'i-'-‘$f.‘1;‘t1ﬂnﬂ.t area dA. If the length of the firat

wire is increased by Af on applying a force F,

wETaEa it 2 how mueh force iz needed to strefch the second

{1y 8F wira by the same amount ¥ e A
{2) 4F 1 8F L= B
(3) BF &y e ¥ - P r
dy F (4 BF - . —

g2, B v e Wi oy i feerEeen A et wmE g A S w
fimar & | R =9 & HEY TR T I flﬂ:l B d2. A small ﬂFl'l'-l:El'E' of radius r' ['u'”x. from rest in a
T8 % o ) W T T SR T e o o maha b
|-:|'|:|'ﬁ_'|ﬁ5'l_‘| 5§ u fmn mﬂq[m Fﬂf-ﬁ g f when the 5[_|hq_'r|_1 ghlaing its terminal velooty, i=
i1 propartional to
.:-_;“ T ‘ W fﬂ_ P
(3) 1o M Fi f
' ¥ 3 r Sikal V-
4 r i -ﬁ-"d'L'

33. WY B (1013 = 10° Ne %) 3R 100°C AW W e

O-1 g et & T ) 100°C F 9 ol w3 |55 A sample of 01 g of water at IR and, ngroal
Gar R4 EET == Fal i AR E_F‘f' 5 |. 2 preagure (1013« 107 Nm ") requires 54 cal of
g LU 3 oIt 1IN -

:: 3 7 i g heat energy to convert to steam at 100°C. If the
e i JFI” 2 167-1 ce &, W FH volume of the steam -produced ia 167-1 ee, the
arr=afre Al 8 wiE

1|, change in intarnal energy of the sample, is

| (1) 5 - )f‘ (10434
| ‘:‘Zu//::u \)z‘}t 2y 422

2] L
! (3 2087J t}ﬂﬁ o e '}xfj
(4} 845 (4) B45J \m
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34, fag (2, 0, — 3) W HEW F=4i 15 f6k

ﬁl’-ﬁ(Z—Z—Z)ﬁE‘IﬁH STt &
(1) —81—4J-7k :
A A A
2 -7i-8j <4k ‘)(
A M A s
@) —4i - |/
A A A
@ -7i-A7=8k

35. frdi o 3 359 il oY e 5 A H 419 0-001 cm

FeqquE a1l BR W g1 I | gEd due W A
5 mm 3 gefi I F I Hexf wad § 25 W
TR 3 | 3fe T T H I gk - 0004cm% al g
&1 W I
(1) 0-521cm
(2) 0:053 cm
(3) 0-525 em
(4) 0-529 cm

36. 3Id HIUT 0  fopelt e 3Fd 99 ABC W m

ZNT 1 HIS eiieh SAEER 6 B | 38 9 i el
T 1 ‘@’ eI Sl @ | soiteh A W R

@ ¥ e a 3fit 0 % off= wEg &
A
QI ﬁ
E //9?5\ P '\y
C B
a L%
cosec 0 “%9)59 ﬂ{ﬁ
(2) a=gcosH V\O' Q

(1) a=
3) a=si§0 ‘T‘%\ azs)("\“
2%

gtan®

37. aﬁifﬁﬁﬁmmﬁmmmq%ﬁ?&hw

ﬁ‘g,?[é\er %mﬁ%&ﬁu&v@qmaﬁﬁw
mnﬁm%|@ﬁmﬂg%mﬁWqE F
FTOT THH AT 0 V6 m/s B S & | I &m
foa-am it femm AR I WA F
mﬁ@aﬁtamﬁnﬁmwﬁéi 0#
3 Jave F o9 Rae HR & dga an JR e

@

35.

36.

37.

—3
The moment of the force, F = 4? + 53 - 612 at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A

(1) -8i-4j-Tk 80
A A A F o

@ -7i-8) -4k bl

=) 5

a A A
(3) —-41 -3 -8k
- ..‘.\ .l'} A
(4) =71 —-4; -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0:001 cm. The main scale reading is 5 mm and
78 of circular scale division coincides with

95 divisions above the reference level. If screw
gauge has a zero error of — 0:004 cm, the correct

diameter of the ball is

(1) 0:521 em - -{°\" i
(2) 0-053 em

3) 0-525em 64‘ ,&

(4) 0-529 em

A block of mass m is placed on a smooth nclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘@’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A 2, )*'?ﬁ
1~ N
a %
——0
C B
) -
2 cosecB @@ % %
(2) a= gcose "
3) )
sme

(4) a=gtanb

A toy car with charge q moves on a frictionless
horizontal plane surfac_e’ under the influence of a
uniform electric field E . Due to the force qE

its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

e .

E‘M&l:ji_ . sl respectively G = O\-k"
(1) 2m/s, 4m/s S (1) 2m/s, 4m/s =
; € A ,

(2 1mfs, 35mis ny )} /,>” (2 1m/s, 3:5m/s 2 @

(3) 1m/s, 3m/s /E (3) 1m/s, 3m/s \/~— Pa

(4)  15m/s, 3m/s AETTT (4) 1-5m/s, 3m/s
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48, TEEEW m W UE T i]‘ﬁ'f, 4m =790 % P 28 A moving block having moss m, collides with

=t fom T A mm & B | A B e R aniother stationary block having mass 4m. The
S B af ’Riﬁ a0 lighter block comes o rest after collision. When

! e i &1 the nitial veloeity of the Lighter block is v, then

i 3_11__11# WEIRG T (o) &1 W BT the value of eosfficient of postitution (&) will he

(1). 06 {11 o5

: i W= Yoy, e \ :

T e {2} -8
3 3 AT A 0-95
{ 025 .d.lcl:l'-‘t" | i

(4] -4 *f‘ i -4

49, 3@ T A ATER F=E b H TR 99 & AgiEA @ A body inibially &t rest and shding along a
forr fEReT R W aven 8 s, S AR - D % frictionless track from a height h (a8 shown in
Fetar ga 1 dmds o wn & o oaw 3= oeft the figure] just completea a vertieal circle of

T ® ! diameter AB = D The height h is equal to

B weD L j I ‘k‘“\

7%_

‘\x‘\- . EI" ) 1 S B
M{g) ,,\fg”iﬂ‘r '. B
ul
) A %.‘p — +
b =T = :
G PRl Wb &y
@ £D 7 o ¥}
B ) (2 ra D “]'
i
(3 I;: (8 [:I
L 41-: (1} ZD

40, R faem, A (ve 3 e, B (05 WEE S6

7 ; 40, Three ohjects, A : (a solid spherel, B : (a thin
=) w0 O ; (F g o), FeW adEs @ gireular disk) and C : (a circular ring}, each have

| zemE M A B R R, aue Sl aeE e 8 the same mass M and radius K. They all spin
| iy st & af: awm o @ § | 5 fereeen § with the same angular speed © about their own
e 3 o R wmd W@ wEEs wE (W) & g symmetry axes. The amounts of wark (W)
2 i 51'[‘: - el | required to bring them to rest, would satisfy the
y:ﬂ il L we=P = relation
W Wes Wy =Wy Tt Lﬂp A (1) W =Wy 3W,
! ; / e s
M (2) “Wg>W, >We v p.t.,l%"' g0 (R TWeE Wy, >We
| @3} Wy>Wp>Wg AT T IR @ W > Wy W
(4} W,>W.>Wg 4) W,>We>Wg
| i 41, Which one of the fllowing statements is
41, fefafen s ashm s s #7 ' Permasiie
(1) s i wJd wn § wE O (1) Relling friction is smaller than sliding
(2w e i i = B W R friction.
@ wifs oin m dem e aftemsm ofifEa 5 {2} Frictional foree opposes the relative motion.
AT R (3} Limiting value of static friction iz directly
4y ol e e R e & R roportiounl o mormel. rechon
e E ) y . i Coefficient of sliding  frickion has
| dimensions of length
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42, T en wied e d R ) dies ol d e
AT R Fa (K & e gl e sl
(K,) o1 8 3 1 e S K e K) 3w
B
(1) 7:10 e
(2 10:7 Vbl L’I‘EL

BT Fr -
M1 2:5

43. & 319 T g s 8 oo bl s S ofm
W B9 H A W I B | 59 Wi W geee AuaE
vt xw gkl B § iy oS & | R % e
F=fafid § % w94 s of @ o
(1) ity &

(2)  uoff i e

] ﬁﬁ'!ﬂl’qlf

i e"T0TT e
44.

7f3 [ w1 TEEE -11:]- T A {[::-'ﬂrwiur
frwi 9fmmw 4 10 490 &1, A Fefefas & 8 2hm
wil T R

(1 awl € 43 awft o it o 8 T

(2) 9wl oY HAE SR W e R B |
(3wl wr e s S w8 A

(g guelt wt g % ww # afiEda T A

i & Wil s ey A A R w6
A, B #il C w i wold wem: K, Ky 3 Ko
AC & v e o o fRefr s m SB R #nd
G ACT 7 2 | T N

45.

B w,
U""'f: - ){1 ;’}iw
\\E_ b
Q) By <HBp<Hs
L2 H.[l_ﬂ ]"--.‘1I i K'f."

JS*'MAKﬁ::Hn} K

4) Kg>HKp>Ko

42,

43

44.

A solid sphere i5 in rolling motion, In rolling
mation & bwdy possesses translational kinetic
energy (K) as well as rotational kinetic energy

K simultanesusly, The ralio K. : (K, + K, for
the sphere 15

L8 B

i O 1

Al B:7

(41 2:5

A solid sphere 1 retating freely about its

eymmetry axis in free space. The rading of the
sphere is increased keeping its mase same.
Which of the following physical quantities would
remain constant for the sphers 7

(1l Angular velocity

(2 Rotational kinetic energy
i3 Mement of inertis

4! Angular momentum

If the mass of the Sun were ton times smaller
and the universal gravitational constant were
ten bimes larger in magnitude, which of the
following 1= nod correct 7

{11 Raimdropz will full faster

121 Time period of a simple pendulum on the
Earth would decrease.

{3 Walking on the ground would become more
difficult,

4 g oon the Earth will not change,

The kinetic energies of a planet in an elliptical

orbit about the Sun, at pogitions A, B and C are
Ky, Kg and K., respectively, AC is the major
pxis and 8P is perpendicular to AG at the
pogition of the Sun 5 as shown in the fipure.
Then

L ;
J"L\JH H
";_.l" & HEI-{ F’{,,:'

“"H L Hﬁ L H..:l

(2)
(3 Ky>Kyg> Ko

4 Kp>K,>Kp
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46. NH, H, 0, 71 CO, & ¥ SFm o foes:
i 417, 0244, 136 @ @59 FBu m® |
Fraferfiga o 3 Sl g o=a A @ 2Zfae o Ak
t7?

Given van Jder Waals constant for NH;, Hy Oy
and COy are respectively 417, (244, 1-36 and

358, which one of the following gases I8 most

easily liquefied 7
e

(1) NH, ’
12 Oy
&) DE
i3 H.,
{3 Hg =
[ 41 Gl
4] Clg %
47, Pollowing solutiong were prepared by mixing
47. Frefofam faemd &1 NaOH vd HC =1 - different valumes of NaOH and HCI of different
ATt UH STEEE = foer | sam rr" : e o e
A ¥ - .
M ., a, 60 mL -' T'- HEL + 40 mL M ysoH
i B0mL — HCl + 40 mL. — NaDH ll:l'
10 10
M M h. Eoml — HL] + A III.L - Na{}H
b G5mL — HCl+ 45 mL — NaUH v AL
10 10 R N, M
. e T s 76 ml. = HCl + 8 ml. —~"NaDH
e. T8 ml.%r-HC'I+EE mlpme NaOH'S "™ N w:"/ S i &
- LY .
M M - ljf:l d. 100 mL i HCI + 100 mL A NaOH
id. 100mL 10 HC + 100 mL i MNalOH L /"f 10 10
o 2 P-Hi T Hﬂ & {Trb;_ p:: -:_af:h:-:_:h vme of then will be equal @
"
"1.' b il | o ‘{;.-5" 2 d 25=350 19
(2} d 1_.)!‘1\ a5 ~S = 3 m y o
(4) - )
4y ar = ‘ﬁ ‘:I_\____._—% S € !
48, The solubility of BaS0,; in water is

BaS0, %1 208 K W 7= § et 242 « 107 gl™!
# | v A (K, ) W

{fmn T § BaSO, 1 AiEW ZERMA = 233 g mol ™)

(1) | 108 105 a2

(2 108x 107" mol®L™®
3 108x10 2 mo* L2

(4) 108 % 1072 mal® L

49, FafafEn 4 @ w98 M W AT i TEG gEE
fr = 8 7
(1) EE W % A i w
() v i s v v s e g W
(1) waET EA F e W
i4) HaEe e s fug W

242 x 107 gL L at 298 K. The value of its
solubility prodact (K_) will be
Given molar mass of BaS(, = 233 g mol ™
_}J//maﬂu W mal® L ,;_,quﬁ}“‘h
(2) ‘108% 167 mel” L Bl ¥ I
(@ 1:08% 107 mat® L2 2 }!11:"5_

(41 108x% 107 mol® L7#
On which of the fullowing properties does the
GO 1u~1|:,r power of an iomn dup-l,n-ﬂ T

The nﬂgmtuda of the ch charge on the ion
alone

Both Tl'l?lﬁﬂi-'-'-ld'l! and sign of the charge on
the ion

(31 Size of the ion alone

{4) The sign of charge on the ion alone
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50, uferad wiE wowrE § g W Al 8 8(60.  Considering Ellingham diagram, which of the
HHA-H U w1 IEm U?Ihm T T T om following metals can be used 1o reduce alumina 7
TR B 7 (1) Fe )
(1} Te _ Mg
(2} Mg (3 Zn
(3 Zn (4} Lu
(4) Cu ol. The ¢ orrect ._||'|'i-E=]_' af @A L“;“iq_' m{I]l in Eroup 134
51. fofafias § # g 13 & == § wfoas ot = elements is
Eacke iR R {1y B=Al=in<Ga<Tl
{1} B=Al=In<Ea<T (27 " B=0a<=Al<T] <In
(2] B=Ga<Al=Tl<In (3] B Al = G In < T
(3] B=Al=Ga<]n<TI “j})’/ﬁ Ga < Al=In =Tl
. § ._-_._.-._
(4] B=0Ga=Al ::.'lrL < T 532, In the stracture of CIF.;, the number of lone pairs
52. CIF, % W= 4 & M Tl W et g of electrons on central atom Cl' is —)
n o a e — —— Li—
BERRE A 5t w A i1)  one \
| o
(1] T=H Z) four ’E@ 1 =
i2) W H;,foptwn £2 A
(3 = 4l three
(4 B3, The correct order of \Lcurnplun1d; in its
B3. Nl § e s s s g g m“m” ”f"“"d““““ gites is
wEt wn & -1“ :qu'
(1) HNOy, NO, N, NH,Gl  NHEL,NO, N, S AP
‘ Pes
(2) HNOg, NH,CL NO, N, () HNnd,ﬁD NIL,CI, N,
(1) HNO, NO, NH,Cl, N, (4) NH/CI, N, NO, HNO,
i4) NH,CL, Ny, NO, HNO.
! Hy : L "r"-'llll.h of the following statements is nof true for
54, ﬁﬁ%ﬁqﬁﬁﬁ?ﬁhﬂﬁﬁmﬂmm?ﬁ s halogens? -
27 (1) Al form mongbasic ogyaerds:
(1) fi v gl bl s am § \_,LQ"'J. All but fluorine show pesitive cddation
(2) EN AT WM OO sqTeie i
] i 4y  All are |'u-::i|:|;:i:-'i|.'|_g agents,
i3 wd wiedEmTE afieds § (4} ihlurmt hdw_t;m highest electron-gain
o R : enthalpy.
(4} T F waihies gy wen vl &
5 - — i 2 of the following ale A iz unable to
55, fafcfiae @ 2 s 7 MFT a8 : Turh,_;n:-ﬂ JQ el oty Suls o
? orm [ fom
1y G i
=
| 3 ;
2 B ‘_j}r""-i X
I_']_I 'all 13] .'1-!
4 In - i4) In
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56, friw g e Ay o ® a0 Pt i‘@ Regarding crosslinked or network polymers,
B o e yE Ay which of the fllowing statements i2 incorrect 7

= = g - 5 {11 Thev contmin covalént bonds between
M = faf 13'51'-‘-! ‘HE{EE P e various linear palymer chains,
H‘F:E‘-'M% fmiﬂ Fﬂ E_I (2} Examples are bakelite and melamine.
\& %&Tﬁ_ﬁ boh ﬁﬁwﬂ 3% 3w # | {rax {2)  They are formed from bi- and tri-functional
@3 = ﬁm ve fifFarws aqgl & e | PCTIOMEES,
awi (4} Theoy contsin stroag sovalent bonds in their
(4) T WEERR *pEEe § THE wEUUAE ATEd polymer chaing.
A | B67. Mitration of aniling in strong acidic medium also
57, UFER @ A uew i e § e o | gives m-nitroaniline because
A ¥ Tl (1} = In spite of substituents nitro group always

poes to only m-positian,

(1) wiams 6 IR & wEe T T e

1 {27 In abaence of substituenta nitro group
e meTeats o @ A R

always goes W m-position.

(2 uircans W el 6 g wER R (4} In electrophilic substitutien reactions
m-TEatE oo R afio group is meta directive,
(3) T g sl © b ”Fl -..:.'ﬁ' idie (strong) medium amline is present
m-FeerEmi 4 as anilinium jon.
(4) el (WEE ) A | e tfeiiaen JeE | 58, Which of the following axides s most acidic in
LY nature?— . e
: 1) Mgo
58, fsfafm & 4 W wimmz fi e o=k 2) B0
TP R ? 3~Be0)
(1) MgO (4 Cald
) el @ The differcnce botercen amylose and a.m];l-:-pﬂctm
_ (3)  BeO o . —_—
| 4y Cal -y/ﬁ‘m:r-l,u';{#“] have 1— 4 @nkage and
B9, i va fewEes & fafi 1+ 6 a-linkage .
| i : - ; : ¢ : - A 4
! (1) Ut 1 4adTAE 6, T (2)  Amylopectin have 1 — 4 @Jnkage an
|l 3 ‘ 1 —6 f-linkage
il 5 o . . {3} Amylose ‘have 1-+4 o@linkape and
(2 H 1o 4o 807 AW 1 — 6 1959 B P,
ferErs A e B 1 :
b I.H % 15 g 1 a'u=_| aa:r eandull kAl (4) Amylose iz made up of glucose and
{4) TUiuEE wEE vE fnem A 9k galoctone
60. 23 g $if% ana ow 46 ¢ Aiedfas 3= m@ 4 sbchore of g frune ﬂ;:ﬂq;ml ;-5 K mclnli;
| H,S0, # frn wad 5 sl ffe fam % KOH A Tn. trasiad s S Ao B SRR
i A L 3 li & gareous mixture is passed through ROH pellets.
= B -!I:_E-I :: AT A E | STP W 3 LS ) Weight {in g) of the remaining product at TP
| 1 W (g &) E will be oy
e Lh, . lo .t Hy
i (1) 14 (1 14 PR ARty i
' i2) 28 2) 28
l' (3) 30 (3 30

! 4) 44 | w-" 4.4

CHLAAEE Page 16 TH ¥4 F A =  SPACE FOR ROUGH WORK HinevEnglish




B1.

G2,

63.

B0 MTifeRm 6l.

ONat

OH
!/%j +CHCl, 4 NaOH  —» éj— CHO
.\-HH- g

 mitiee e 2 ’ |
(1) Eﬁﬂﬂﬁﬂm:ﬁHﬂng
(FH :gsaﬁmﬂﬁamﬁﬁmj}
(3) Tﬁﬁmﬂgﬂﬂl
(4) ETEEHRERET (CC1,)

wETEAE W & T W A0 BeuHH

T e, FEE ww T e e e A

T wd § | wp frs wEm v 2 0
(1} 37790 SIS U] 5 3

(2) i sl f s = e v
T AN WS g e A

(3 Wﬁﬁﬁ%‘fm%ﬁ%

() Fmafs g oo T 8 83,

T A § A, CgH,,0 7 R NaOl oY 9 sfifies
NaOH # =% s nar) & sfifen sl i
T W e arE e

A 3 Y §

n ng_'.—@—{'lig- OH 3 1,
(2 @— -:fH CH; 3k 1,
OH

@ ¢ Y- cHy-cu,-on s,
CH,
(4 CH; —@— OH 3 1,

Io the reaction

R

G

U Na®

. Y
] + CHCl; + NaOH ———» i{_.__J CHO

R
the electrophile involved is
L
(1} dichloromerhyl cation { CHCl 4 )
- » G
(2} dichloromethyl anion ( CHClg)

G ]
(3 formyl eation ( GHO )

‘/:1_'(‘,._1'.;-';'_[. st arbens -!;[:!I:!I._.!-

Carboxylic acids have higher beiling points than

aldehvdes, ketomes. and even aleohols  of

comparable melesular mass, ¢ 1 due to their
[ p

(17 formation of intramsolecnlar H-bonding

(Z) more extensive assoeiition of carboxylic
acid via van der Waals farce of attraction

@) formation of carboxylate ion
4 formation of intermolecular H-bonding

Compound A, CiH,,0, is found to react with
NaOl (produced by reacting ¥ with NaDH) and
vields a yellow precipitate with characteristic
smef].

Aand ¥ arerespectiviely

M e~ S O, - O and 1,

@ ¢ =}— CH - CHg and I,

OH
l—uﬂl -

\_f)f"f@— ?HE- - CH; - OH and I,
CH,

{41 CHgy ‘@ OH and [,
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64. F=fafge v ¥ g v 5 anl | 2 & qm‘mg,?;':'ﬁ‘m,
ape, sp°, Bp, sp T ZHET T 2 7

1}y HC=C-OU=CH

(2) CHy=CH=€H = CH,

3] CHp=CH-C=CH

—r

(4) CHg-CH =CH - CHj

65. Tmfefim # @ = spelems meiis e

afeE B ¢ ]
Ny
—
(1 |
&
¥ H
N,
(2}
H i
v/ @
NO.
_.-"
(3 11
T
o,
S
MOy
H
(4} v |
=,

66, Tmafefem 4 8 wfreerest %
FH- w2 ? (R = UfFw)

(Il -NH;<-0OH<-F

—Imihﬂ'?aiﬁ@

(2 -NHyg>-OR>-F
(3} —NB,«-0OH=z-F

40 —-NHy>-0OR>-F

Which of the following molecules represents the
order of hybridication sp®, sp”, sp, ep from left to
right atoms 7

(1) HC=C=C=0H

{2) _CH, = CH - CH 26k

(3+"TH, = OHs C = GH

(4} CH,- i‘-H:C]T—CHH

Whieh of the I"ﬂ.[l‘:'.i.'irl;:; carboeations is expected io
b mos=t stable 7

- il

(3}

Which of the following is comrect with respect to
— | effect of the su nstituents ¥ (R = alkyl}

LT NH, < —OR <—F
{2) -NHy>-0OR>-F
i3] -NR;=-0OH=<-F

-

4 -NR;>-0OH>-F
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T

71.

" [CoClylen),] g Yefia wy=esm 1 550 §

(1) AT AREEE

(2) A SHREEE

(3] ITEEUTIER WO

i4) TR l

Fr=ferfam @ & &F-m J99 d-d Twn zeim B oa s

WY # A i ?
{11 l!r[]ﬁ_

(2 Mn0];

(3)  Crg0y

i4) Mnﬂﬂ

HTA FEE, FalCO §
(1) TOdee®

(21 Tadem

i3] Tehsh—rh

(4) T

giem 1 A fio o um smEt w wem O | fr o

arEt & oww garkE amge o fieme T
& ww iR it

sl e i
8 Co~ i. 8 BM D
b O ii., J35BM .
3 : Ly
c, Fat ., 3 BM. (':.:1
d. Nit iv. 24 BM.
v. 16 BM.
i b ¢ d -
£ . “
1y 1w v 1 1 :__1..'!-'
2y i i i iii é
k) 1 i iv (‘g
@ G i i '

NiCO),) wFe o wfishy v g e &
i1} = wwasft =mfah vy wgeadE

6.

The type of isomerism shown by the complex
[Cotlgleniy] 15

i Geometrical isomarizm
{20 lonization iSomeer =m
13 Coordifnation iSomeérism

(4} Linkage isomerism

rh of the following ions exhibits
d-d transition and paramagnetism as well 7

£\

CHEE

(11 CrO} = J”|--l'!""“'.—_--"
: N "
(21 o ft-u:.‘j% o
1 ; Z - Y F_;:,_': L]
i3k Crgll, 2 go e
el o d? -.:uE"
L4 MAo
@" Iron carbongl, Fe(C0) ; is 'l =
e
(1) tetranuciear O ta
(21 _-_5_.'i||-|-."i|-:|| I
,q__'p-rf QIR RIRTR T i1 g co
4y dinuclear

70,

T1.

i2y =t HEAET FIEE U3 SRS
(3 oewerbE T v airgemdig
4) SRR Sl Te ST

Match the metal ions given in Column 1 with the
apin magnetic moments of the ions given in
Column 1T and pesign the eorrect code

Colern 1 Codwrmn IT
& | Cot i J8 BM.
b o i, J35 BM
e T iii. 3 B.M
d N iv. 24 B.M.
—
sy o 15oE.M.
_,.J/ b, ] 4
- iV ¥ ii i
: - ~E
{2) iv i ii i
(3 § i i iy
Y . .
4] 1m v 1 ]

The peometry and magnetic behavieur of the
complex [NilCO )] are

——

(1} square p}n:]ﬂr goometry and diamagmeti
(2} sguare fhfaar geometry and parameagneotic
jﬁftétmhedml geromatry and diamagnetie

(4) tetrahedral geometry and paramagnetic
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L

z Earomw

e e L

T2
(1) mEm s @ sfEn &= . 6l
arema w Eafe af T & e i 6
afirfin 1 dn s 8 Al W e

il W

cn)  wam R S sfuln = sefE o oA

&. Frfra itz <t slubEm =1 3= T Fem o
wFal &
(9w i w8 sfrfmn f andang ), W R

I & Tl il arfulin S we-a 1AlG
o o
) wm wie @ afefEm w8 @b W

w1 i = #; R i = e
1 4n v ) ARl v
3
78. CaHy, BeHy, Baly® AR 550 =1 %0 B
(1) BeH, < CaH, < DaHy
i2) BeH, < Bal, = Caly
(3 Call, < Belly < Ball,
i4} BaH;< BeHs < Caky
74, e fEafy d me & s ) e e R
i1} 18 mL 3= i &0
@) 1 atmud 273 K 0-00224 L 9 a0  fom
(2} 018 g FE %
4y 1073 e e & fey
5. 3 o o ot E, SeiE o, s T
Thada fafim B, o (emf) AW TORAE TR

i B 15
Bri), LEE Y e Bi0; — HBrO-
Br  *0gsaV ~2 T LBGBV

Fra.oft wiiira wEuEEe 8 T R T
(1) Bro;

(2 Brs

(@3 Brij

4y HBrQ

oo =i frdtm it st 8w Rl g (72

The  correct  difference between
second-arder reactions is that

first- and

i1} the rate of = firstorder reaction does not
depend on renckrne m:-mntmthmn the rate
of a sceond-order reaction does depend on
repctank & u-I'I.EE'I.'IT-]'R"II.‘-T'I-H

(2 a first-order reaction ¢an be catalyzed; a
egom d-order reaction cannot be catalyzed

j,ﬂf‘r_tu- half-life of & first-order reagtion does not
depend oft [Aly; the halflile of a
second-order reaction does depend on Al

4y the rate of a first-order remction doos
depend on reactant concentrations; the rate
af & second-order reaction does not depend
on reactant congentrations

e

13, Among CaHg BeHy BaHj, the order of ionic

character |3 |
Beltyegalt, <hatly St °b ¥

21 BeHy < BaHg < Cal,

{8y CaH, < BeH, < BaH,

[4) EI.J.H_:- = I!'UHE =i F.‘HE_

74, In which I:E.E'E: 14 l'hr_- pumber of molecules of wator

maximum T M-
LI._’LL'::ﬁ:l: L nfwater Ea-""'”h

(2% 000224 L of water vapoura at 1 atm and
2Ta K

L
A
(31 1B g of water —"Eb
(4) 107" mol of water
T5. . Consider the change in oxidation state of

Bramine ¢orresponding to different emf walues as
shown inithe diagram below :

- 182y 16Y -
BrD, ——* ]rEI¢ —— HBrO
L &
T a—————— fir; =
B S o652V ek LGBV
Then the species undergeing disproportionation
g -
i1} Hrf.'l;
. " o
MT‘._. (A
(@1 Briy,
{4y HBErD
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76. X, Y, 3 XY H ey fadem FeieAr &1 sgua
1:05:1 2 | XY & o= i wed

AH = - 200 kJ mol™! 2 | X, &I ey s S

76. The bond dissociation energies of X,, Y, and XY

are in the ratio of 1 : 05 : 1. AH for the formation
of XY is — 200 kJ mol™>. The bond dissociation

A energy of X, Will?’e Yp 32 H \i\{ 2
- (1) 200 kJ mol™ :
(1) 200 kJ mol™ M+~1 . o m"l 1 ¥ 2R
(2) 800 -
(2) 800 kJ mol™® i ag g > ““’l 1 > -~y AR
=" 00 kJ mol™
(3) 100 kJ mol ™" Y SwEL. g : AW B 0 - 6.
4) 400 kJ ol ™} }(% \ M 400 kJ mol ™ ér @ e @ @
mo.

SR 25

, 9 77. When initial concentration of the reactant is
77. W9 AfHREH H TREH Fisar 1 gl fHa S %L‘;O doubled, the half-life period of a zero order
Aty iR ifilhan & e o e R 7 |y@  reaction .\
] b » b/’ (1) 1is halved a\" i
(1) 3 &r & N ‘o (bo
. ')\>( L3 / (2) istripled
(2) fon 2 @ ) 2 _ Po
= < 7 \} B 1 is doubled EHL:-—-—-—"
(3) AT T @ Nk, = ... | R\ L
ey - 3 y o W7 5/ remains unchangec
' g ' 78. For the redox reaction
78. teiaw fufsman

MnO; +Cy0%~ % H* < Mn2*+ CO, + H,0

¥ foro sigfer wie & R st & wd) i
2 :

MnO, C,02- H*
(1) 16 5 2
2 2 16 5
3 2 5 16
@ 5 16 2

79. fufsen ¥ Foafafaa 3.8 <F-d g st 3@
famior % forg sewerft 2,

A, (g)+.Bs (g) = X, (g)
= a9 wE 3= T

I qM U9 3=

= am vg = g
39 a9 vq = g

AH= =X kJ?
(1)
(2)
3)
4)

. . 2 %
" Mn O; +‘%20‘f_ I&i* — & Mn> ¢ 502 + HyO

the correct coefficients of the reactants for the
balanced equation are

-

W7 .,

bl 9_ E )

MnO;  C,0; 1:{ N MW b AN
1) 16 5 2 -
(21 16 5 b;w‘ o o¢
(2, ] L /‘)Lt 2 +g
(3 2 5 16 ¢, 04

"4 5 16 2

o

Which one of the following conditions will favour
maximum formation of the prtﬁ?t in the
reaction, e D W (o YermP -

Ay (@ +By(g) =X, (g) ATH=:_}Q:J? LLL -
(1) © Low temperature and high pressure ()
(2) ~ High temperature and high pressure

Mﬂw temperature and low pressure
(4) High temperature and low pressure

\3(“:-

o \a,

Vg

80. The correction factor ‘a’ to the ideal gas equation

corresponds to

80. 371ey M\ Teieur § G U ‘@’ deEfyd 2 (1) density of the gas molecules
(1) 79 3si & 99 4 (2) electric field present between the gas
- lecul
(2) 4 e & wex Iufed fagq-am | iR
i 5 ' (3) volume of the gas molecules
(3) 9 el & I | :
LA Tt ( forces of attraction between the gas
(4) 7= AT @+ HEg AR FAl 9 molecules
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B1. m'_‘ﬂ"m T A (K) | -.i-'ITI-ImT ﬁ LR Hm"‘f Bl. Magnegium reacts with an olement (X to form an
ffs s 8 AR g0 = B seean § onie esmpound. 17 the ground state electronic
o e 1t 200 gpt 3, Jt = A o wnfiguration of (X is 1s° 2’ 2[.}3 the simplest
AT HE B formuln for this eompoond is
(1) MgXy (1) MgeXq

aihg . o -J_
(2} MgX ] (2}  MgoX -
(3}  MgXs a8y MgX,
(4} Mg L+ Miggha

B2. amET W % A T, bee 'ﬂ'ﬁ" a"’.-'-'ﬂ ﬁ | 00™3 -ﬁ-‘. BEZ.  Trom exhibita bee etructure ot rosm temporatura,
T 95 fioe W= A gt @ @l B s & et Abatre $09°C, it transforms to fee structure. The
% 9 W 9 & 80050 A1 I S i ST A ratie: of density of iron ot room temperature to

e . ] ¥ - that at 900°C (assuming molar mass and atomic
{.Hﬂ -8 R W IR =R B A e g radii of iron remaing constant with temperature)
& mry fei ) ie
3 - e k.
(1 \lli:h x 1) 4 3 Ej' o -._,1_.—-
V2 ﬁ J2 4 1 n
(2) q_“ﬁ ﬁf: ,_;#"ff"- Cl g"-’“"‘lr‘# o
V2 : 42
4 VY sy 5 W AS AL
il 3 Ji
= {3 '-j"’lrj J‘u;:" (3 :] If. "Lq,fj"
342 -{L— = _'_,.,—'-""" 342 —
1 1 v
dy = q_._ W =
2 gV 4
&3, Fresferhan witefia o frar i Jy |88 Considertne follgying apocies
CH*, CN™, NO 781 CN U;T'— CN", N MO and CH
=i B fieerd Ty sa w2 7 ia= o Which one of thess will have the highest band
oA = order 7
\ ¥ L. +
@ - CN (2) _CN'
(3] ENT a1 CN=
(43 EN (4 OGN
B4, Fre=fafas 9 9 s £ A :
b LE ; | B Which one iz a wrong statement ?
(1) ‘" e i gl w1 a warE wnig w5 {1}  Total grhital sngular momentum of electron
W= o e in ‘' ogbital i equal to gero, @ <O
12} N WEE E-ﬁ'-'@lﬁ‘ﬁ Fa=mm | }l/ﬂ: electronic configaration of N atom is
188 2 Ip, 2p, 2p, s 28® Ip, 2p, Zp,
[t [t4] [P LE] e til 1 [T [4
() T REE A9 FEeE OEEan § ﬁ'ﬁ,’! i ﬁ'ﬁl—'.l {3)  An orhital 15 designated by three gquantum
LEA Y o FEFET AW = HEe numbare while an alectron in an atom =
fafde & I. designuted by four quantum numbars

4) da Pem®mam g d 14)  The value ol mfor d_2 Is zero.
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argeise & yHR vE A i 261 8 it e
F1 FI-H] AT S WS T A 7

NgOp

NgU

NG,

B, 5.

1)
[}

(R

(4 NO

wE UfEws dEe W R W R gt wfalEn oo
et FEETREe | giEfde B @ B s oam d ey
A ey 1 (A) B

3 ALmE, (A 15 =
(1} CH=CH - (¥h
(Z) CHy- CHy I y LAl Chvr s 5___,
(#) CH,=CHy 87" CH, - CH, se ot
i4} [.:].[-l‘ i3 UHil:EH.E { U’;-’Lﬁl’
(4) CH;,
BT. dMfiw A 1 Na & srfufies & w7 B #m & 7

PCly, % s sififien S Wag C émé | Bvd |87, The compound A on ireatment with Na gives B,
i o T ufaiEn weEn W aEehE fw e and with PCl. givea . B and C react together to
ARl ABmnOCwag give diethyl ether. A, B and C are in the order
(1) CHOH, CH, CHLCl (1} CaHOH, CoHg, CyHyCl
(2) CgH:CI, CyHy, CoH 0H (2)  CoHgCl, CyHg, CoHg0H
(3) CyHROH, CHECL, C,HONa (3) CgHgOH, CoHgCl, CoHyDNa
(4)  CoHgOH, C,H.0Na, CH.C1 87 C,H,0H, CH;0Na, C,H{CI

. The compound C.H; undergoes the following

B8, = s C.H, Bl sfifsns & g b @ : "y o
b resrtions -
b P Bry/ Fe - 30 A Brg/F fn/ HC
o, ety ) Brafle o Zn/iHOL CoH, mia . By e pZu/HCL
a0 B Py The product T’ 15
(1) m-EEETH /]\\ i1}  m-bromotoluene
(2)  8-F00-2,4,6- TR Li; - @) &-bramo-2.4,6-trichlorotoluene
(3) o et ) i3)  e-bromoteluene
A "
(4) p-aniETah S (4} p-bromotolusne
. 3| .

TR (A) W § where g sfitEn w0 2N

Which oxide of nitrogen is mof a common
Im"l.li-ﬂnl. mntroducad imnta the ET_l:!.:p.equ.hn;l]-El otk
due to natural and human activity ?

(2) NyO
@ NO,

(d) NO
Hydrocarbon  (A) resets with bromine by
DD :
(sul:-stltuio_q}u form &n alkyl bromide which by

Wurtz reaction is eonverted to  gaseous
hydrocarbon contsining less than four earbwn
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88,
%1 TEETAY
BE [
o S !I'Li'l:'iq
[' | + CHzCH4CH Gl ————
b |
1) Og
—2 Q.
(I H 04
p Q i
CH,CH,CH; CHO
A
=l o
(1) r [ ﬁ\ﬂ CHCH, - OH
e S
. CH(CH ), MH
(2) [ |]’ _ C| - CHyCHIOH)CH, |
CHyCH,CH, CHO COOH
|
(Y i";'-:rh". [.-"LI =
: H.-": ’ :C:;,J ? 1‘“*‘.--'|‘
OH
£~ CHICHg); _ 2
(4) LH | U GH, =00 CHy
00, FofafEa 4 8 99w e Brams =0 7o
37
i1y wEEE
(2 dAE I
(3) v
i4) T

0.

Aefinfign afifn sfaen & gea dre P, Q o RfH9.)) Identify the major products P, Q and R in the

following sequenee of ropetions :

Anhydrous - tH
2, AIC|
[ ]| # CHyCH,CHytl ——2— | o
g L} "
-0 (i) Og
_ (it) HaO*/a A
)
T Q R
CH,CH,CH, ©CHO
P 2
T |l || CHyCH;-OH
e, y ¥ h-_ J
: i 'li-,'i..:ilg.'g o OH
@ | - U (H;CHOH)CH,
T v e !
CHiCH,CH,  GHO  COOH
|
2 / A
’ QJ g . ()
OH

CHICH.),

e e
(4) U' I_\J CH; - CO - CH;
w0 it t iy 1

Which of the following compounds can form a
i '
{11 Anilins G‘?L

(2}  Benzoic acid

{;v:_

=} Acetanilide 1

e |
M_:l:rl.i.m‘ ! w”-\?'
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g1, ffafem € w9 599 St 87 o1, '.‘v’hiv.l:pm:'[,he fodlowing statements & correct 7
(1) e § Sws ey Bl g SiegE] | (7 Owvules are not enclosed by ovary wall in
=r il EVIINOSperms
0y yitten e B (% Horsetails are pyriimseporms.
(1) e T qu‘ﬂ'fr:-‘ﬂ ' B, FEER (3y  Seloginella ia I:II::;"?'HHEI'I'.!LI.H.. while Salvinia
diiTET U W AT ST R | is homosporous,
4) mrwEr an ﬁgﬁ'ﬂ:ﬁ*ﬂ‘ TS 35!]]‘['@?:,' (4] Stems are wusually, unbranched in both
FE Cweae and Cﬂ"l:l:."u.-"b{:
92, TEEAHA [yt F-T'ﬁl g7 | B2, .l"II-l-:dl_Llil-._lJl_..l.lel: s aorarin
(1} qg-umﬁtﬁ_rg ﬂ AT Halophytes
ey qmmrﬁqﬁ;ﬁﬁ | (27 Carniworous plants
(3] - IEEE WE 5 (3} Fres-floating hydrophytes
i4) e i o {4y Bubmarged hydmophytes
g3, v FRm ST & 7 B3, Sweet potato i 5 modified
117 @4 11 e N |
2) HEdATHE (2 Tap root
(@) ST g ._M.hr!!’mtiﬁnuﬂ roak
4y e

(4] Rhizome

94. ¥R T A § f e afs o o e 84,  Plants having little uf_‘ﬁﬁr{@w;h b
il i) L.;l'as:!-:es y
T s {21  Conifers
IEE‘ ?-.;E;mf? mﬂ [ ﬂl:uiduﬂ:lﬂﬂgim- perms
:T. ml;a:,gu ' (4} Cyeadsr"
95. e uital =l wrdt & 7 85. Casparian strips occur in
{11 mgr.'qa] . (1)  Epidermis
(2} SvPHe (2] Cortex
T (F (3} Pericyele
(4) wwEEm _{#r Endodormis

o5, Tedt=rdi 7 § Tadftas weem all weine feud 399 |96,  Secondary xylem and.phloem.in dicot stem are
w7 Piﬁdﬂ____\:__ W b

i1y i e (1) Apdcal el S e
(2 A 2] Phellogeml
(3) HEEA U M’h:—:culur cambrium
(4) FHE (4)  Axillary merisigms
97, WA HER OGN 97. Select the wrong statement
(1) waw ¥ wEn 9E % ug § i filw i1

Coll wall iz present jn members of Fungi
and Plantae w}

Ttz B 2 |
(2) TRt W e 9 sin =T e R

F Pseudopodia are locomotory and feeding
wraard | gtructures in Sporozsans.
9y e W Ay SnfEaeEftda a8 | (30  Mushrooms belong to ﬂiléillwmtkﬁ.
4y TED W BiEE o dEa ® wE o {4 Mitochondria are the powerhouse of the cell
R U T R in all kingdoms except Monera—"
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gr, #1.7.u. & AR vl W gl T ey |98, The experimental proof for semiconservative
fram v T w1 0 replication of DNA was first shown in a
(1) e H (1) Fungus
I 2y Plant
3 Efﬁ'[l]'[ ¥ - ﬁ;j.::*rlum
(4p Forare o ik i
: _ 89, Select the eorrect match :
09, oFE TH Ea | ?:ﬁtf {17 Alec Jeffrevs 4 Bireplococeus
(1) ueEs S —rwT pRewmanios
(2) g foeed ol W%, wEs - ey dagaw (2 Matthew Mesolsnn ‘/_’3_ —  Pigum sativum
(@ werzpfismmwiss - fim angd ¥, Stahl :
(4) Hewrn S T A TR - % s () Alfred Hershey uud;l - TMV
: harthn Chase
100. =g F F JF0 ; &/j‘ﬁan-.-.m Jacohand - Lac operon
(1 “wmereEn = o e Sl e A e dacques Monod
4] nﬂﬁm e s R R e @ Select the correct statement. :
(d) 9 a9r TR ﬁlﬁm ﬁﬁﬂ'ﬁﬁﬁ wl hﬂ;h'! :'}-':'ii' Ji':'“i (11  FranklinStahl enined the tarm “]j.nku.gn"-
W > L2y Spliceosomes take partin franskati
(4)  orEEE T, AreaE o e I|_:'JI_.|,.-‘"-'_':'._“-,!M1__L square was developed by a British
101. Frefaftn & @ #9-m gm w7 =9 8 gife 2 2 —ee—
(1) wer § Hz Hve A (4} Transduction was dil:!;&_uw'] by 5. Altman.
(27 X0 v S St ‘d#ﬂ' {101, Which l;!f the following pairs I8 wrongly
(3)  ABO T HE TR gl - A
: - ; Starch svnthesis in pea : Multiple allales
{4) #u=. =5e A -
2y X0 type sox - : Grasshopper
102, ‘wiwdsw frmk gm s e 2 2 delrmination
(1 ﬁﬁ-@ EL BIC] BRI (3} ABQ blood grouping g Co-dominanes
(2)  SEHEEAR Za 4} T.H. Morgan "¢ Linkage
(3 :[Eﬂ Far=s T Offaets are produced by
(4) =REFEEET gm (1) Meiotic divisiona
2y Papthenocarpy
104, Fafafm § # G 0% $t o e T iﬂ) Mitotic divisions
El = S g 7 (4} Parthenogenesis
{1} =g ofisfta - 103. Which of the following flowers only once in its
(2) m life-time ¥ e
(8) weEm (3" Bambhoo species
. (2 Mango
(4) FH 13y JFackfruk
104, Fafefaa § & #9051 Faw 5 e d 4}  Papaya
sffim #2314 wers afia £ 7 10, Which of the following hag proved helpful in
(1) W R preserving pollen as foasils 7
o B et 11}  Pollenkitt
it 2y 0l content
(3 W ELEURE B 0 3y Cellulesic intine
) EEER " Sporopollenin
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i

105, 57 FHEN 6 60 F O gwt & v fam
et § 2 o S0 mmes g R

k2
(1) Zramm (yee S
L R R o
(3) Ti e
4} pBR323
106. weta SEen sl (PCR) & < %1 a8 5y
wT R
(1) o, Pede, e

{2)

T, T, fem

3y o, e, forgpdtam
i4) T, adem, frem
107, wriafF g & fim AR FWANA A= &
96t & A0 g S qenea R w6 s
A IrvEE B
(1} WAEH ST i (ICME)
(2) A= SR smEee i ReoM
(31 S w3 sieifs s e (oS
) gl i seeee wfidd (GEAC)
108. @i weafl ot sl g Fdl 2mom TeE
a8 fam et & S sl = w
L0 0
(1) SE3gw
(2) AE.ammm
(3 wwgE (e )
(4) Aa-Fn
108, oF fEgh wuE] g wER R oh R e w e
(e ) Ty gy ﬁ.ﬂﬂﬁﬁ%ﬂﬁﬂnﬁﬁmﬁml
u fme ¥ | e e 3
(1) Co-B67
(2) =l O
(3) i s
(4) . wEg
110. &7 g9 =1 gfw .
(1) TrEarATEy HiFas
(2 FAu=. oy - YEEE
(3) Fyx et 395 e wig
(4 . Hem B =

108, Which of the fullowing is commonly used as g
vectar for iutmdu:g:g a DNA fragment in human

lymphocytes T =

(2} A phage
3] T plasmid
4] pBR 329

1086,

The correct order of steps in Polymerase Chain
Reaction (PCR) js . .
11} Extansion, Dematuration, Annealing
2 Di'ngﬁ:@:r&, Extenzion, Annealing
() Annealing, Extongion, Denaturation

e .
_‘_'r;}.'" Denaturation, Annealing, Extension

107, In the organisation responsible  for
Assussing Lho safety of inbroducing genetically
madified srganism for pablic ose is

Indian Couneil of Medical Kessarch (ICMR)

Research Committee

Manipulsticn (RCGM)

Couneil for  Seientific
lieaearch (CSIR)
ﬁeneﬁe Engi
WGEAC)
108, Use of biorcsources by multinational companies
and erganisations without aathorisation from the
concerned eountry and its people is called

(1} Bio-infringement
{4} Biodegradation

AT  Biopiracy
fd)

India,

L2} on Genetie

(3

and Industrial

neering Appraizal Committes

Bisexploitation

109. A ‘new' variety of rice whs patented by o foreign

company, though such wvarieties have been
present in India for a long time. This is related to
{1 Co-G57

(2} Lerma Hojo

(3) Sharbati Sonora

L Hasmat

110. Select the corree! match :

} Ribozyme Mucleic acid

(2]  T.H. Morgan Yoo Transduction
i3 Fyx Receasive parenis Dribivbrid cross
4}  G. Mendel Y.~ . Transformation

CHLAA/EE/Page 27

TF %14 % T8 29 | SPACE FOR ROUGH WORK

HindVEnglish




111, FeFmwm @ ?
(1) #E & vatao § of A
(9 AYNA W TR T A D E TR % e
a1
(qy ae vitfiE TE e T S A R
4y uw A g R o wEhes i, @ 9w
R
112, Frrforfian @ @ *9-m s s amms ¢ 7
1 o
(Z) By
(3) ©O,
4) Oy
118. fava A= ff=n w8 g9 7 & 2
(L &=
(21 16 fmm
(3) 21 Al
4y 22 3=
114, 2 4 wn ahmm R 7
(1) TR
{2y WEE W T S s et
@ T
i4) UE AEE H s R e Sl s
115, AuATEe W, wrEm % e W s
e &1 fmi @ Pl 4 8 $9m T
eI ad w7
(1) FEA
2] ke
(3 &
(4) AT
116. Frefrfem st @ fon vom = witfcakim ftfoe

o fikan a7
fe i FudiE ; 120 ¢
wrTE I 60 g
qrafte IS 10 g

(1) daumn w1 30 e
(2) wwEn w= Enn fifs
(3 F W

(4) T e

111. Kicheis
(1) all the biological factors in the organism's
cnvironment

{21 the range of tempecature that the organism

gl b live
. _-:}b/ﬂ-le physical space where an organism lives

(41 the functional mle played by the organizm

where it lives

112. Which of the following is a snﬂﬁd_agr__gﬂumﬂt T

{1 QD
(2) S50,
(3)... €0y

{4770,

@ World Ceone Day 18 celebrated on

i1} B June
2 16t September
| @ 21" April
iy 22" April
114. Natali : to
(11 Death rata

12} Mumber of individuals lerving the habitat
A7 Birlh rate
47 MNumber of individuals entering a habitat

115. In stratosphere, which of the following elements
acts as & catalyst in degradation of ozdne and

release of molecular oxygen ¥

{1k Carbon
21 Fe
N

M:-:];gnn

116. What type of ecological pyramid would be

obtained with the fellowing data 7
w:‘_‘:%_‘ 2
VN

Secondary congumer : 120 g
Primary consumer ; 60 g

imary producer : 10 g
[ Inverted pyramid of biomass

(2} Upright pyramid of numbers
{3)  Pyramid of energy
{41  Upright pyramid of biomass
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117. it giem e am dm By

(1) e e ¥ e g
(20 HEEE A TR

(@ wH gh & e
(4) U e & ofean §

118. Fofafgm o @ ¥\ oF T=mgvenn

117. The Golgi romplex participates in
(1}  Fatty acid breakdown
(2 Iieapirat.iun in bectaria

Mumtalinn of secretory vesicles

4y Activation of amano aeid

; T Which of the following is mat a product of light
wfufiar w1 seam 757 & ¢ reaction of phatosynthesis 7 e
(1)  ATP 1) ATP
2l MNADPH 2y NADPH
i3 NADH A# NADH
(4}  Oxypen (4) Oxygen
119, Frfofan @ & 7 v 'H-ﬂaq;-ﬁ T2 ? 118, 'Which among the following is nof a p 7
; 5 g E projkaryote |
(1) #_m#ﬁ' { Srreehnromeses
(2) Afels = () Nostder
(3) AFEETEET 3 Mye :
(3} Mycobacterimm
(4) et (&) Oscillatgria
= - . - =
120, =i 1 il Reed wafm 727 w6 o ;_«. Stomatal movesment is nof affected by
(1) T 1) Tempersture
() O, 7Em i (2) _Ogeoncentration
(3 wH A L37 Light
(4) CO, wEm H (4) €Oy concentration
121. i % o ﬁﬁlrﬁﬂﬂ'ﬂ T 3w i 2 o 121. Which of the following is true for nucleclus ?
(1) Tt ir-'cﬂl_mrﬁmmn HEn Stes e (1) Larger nueleoli are present in dividing se))s.
2y TR TFE; CEe] | W Al # | (2} It takes part in gpindle formatiomsE
;H: EE: T“-'{ 'Q Pt g & ) . 133 Itis a membrane-bound structured.
4 :F TEIHNE RNA grerm = Branie s i It i& a site for active ribosomal RNA
| synthesis. T Pt
122, gfga g O | fiper wraear 4 sew | 122, The stage during which separation of the paired
FrT R homologous chromosomes beging is
9y aiErEn (2] Diakinesis
@ fig 137 Diplotens
(4) ZEE 4] Evpotene
194w %8 Hici Ees w a0 123, 'l:ll:;lr;\:r; functional proups characteristie of
) iR aht e (1), H5abonyt e rnetio
A e e e L ivdroxyl and methy
91 - N (2}  ecarbonyl and phosphate
(4) P T ERE i3 \'..'Ill.l.‘l'.rl'.'rn_l,'l. and methyl
y ot hn;d;r" carbonyl and hydroxyl
124, I &1 9t & vw FR A E 7 TR G
e 124, Stomats in grass leaf are
% AP, _I,l-f'frﬂumh-l'm]l shaped
{d] SEEREE )
v s (2} Rectangalar
|I:| | ﬁm;r L Badney shaped
e i4) Barrei shaped
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i 4 9 S0 92y 79y &1 0= i = 5
e frae wraeg goTe 3, P W ) meant & fa
S e aw o FFT e sm 7

125.

i1} ﬁ?ﬁ’ﬁ'?

(2 W

(3 v
4y e

126, FU7 FN w1 4EA H 99 F ow @ AmgiEA 0 e
ATWA W YUER R A W 2 7

(1} =120°0
(2y =196%C
(d) -BOrC

(4 —160%C

127. = Foas T T

(1} u% v 56 % 2 = g o 3 fi el
Y Hoie

(2)  F T US| H UF 2 F W e

(%) TE T g & g el & e

(41 THF o sl Paaes

125, Which one af the following plantz ghows a wary
elose relationship with a species of moth, where
none of the two can complete its life evele without

the sther? —— . .
(1) J'{j.'.ffrr.i'l'r:—ll.:"_
{2] Bananas#
vlf;ﬁ,lr-""!t"uem
4} Violoof

126, Pollen grains can be stored for several veéars in
liguid nitrogen having a temperature of

(1 =120°C
LB - 18800
(31 — 80

{2 160°C

127, Double fertilization 15

{17 Fusion of two'male E"."ll'l'l{!\‘f of & pollen taulks
with two different agps
(2} Fusion of two male gomefidwith one egg

5

Fusion of ope male g.B!'IIﬁEl with twa polar
e

128, Team wwmroyem 8 sSieds 987 Bant 7 (40" Syngamy and triple fusion
(1} 1A #AFF daien 128, Oxyprep is nof produced during photosynthesis by
(9} EVEEE MI‘EEIL sulphur hactoria Al e
(3 aeis (2) Cveas
4 7 (3] iosfor

129, frafafin # & Shom o= Shmet § w6E =m (#)  Chara
T % R Teart & 7 @ Which of the following elements is responsible for
(1) f=fiirm maintaiming turgor in cells?
(9 T (1} :!I-Iag::r:ﬂ:ium
(3] ey ‘_}}?"‘Pﬂm&*ium
(4) (3]  Dodtiym

130. wiferfrr Ee § NAD = i F=H# ? “ ca?mlm |
(1) w8 THEE & w § Fea 2 :"-:;:::ﬁtllzn ?:ha mle of ' NAD™ . in eellular
3 ; A % fo v feeritae H@ | (1) It funetions as an enzyme.
(3) =R T seEg A & e el e § 832 I a Dcisoli sngses i JUET SSesle
(4) =@ ¥EEE T T Fm sifEAm Eﬁ':!gf'-l — : It 1.'-IJ|LI'.'T|'|'I-I"I.R ax an oloetron earrier.

4| 4} Ttis .Lh“ .ﬁmll trg,mn_a.cmptnr for anaerobic
; T respiration ¥

A Tﬂr T e 1 A Feinien # ® fe o H 131. In which of the following forms is iron absorbed
LG8 by plagts ? L e
(1) %= _,Lb?rﬂlfe\rrir ifi
(2} vFa d= (2 Froe element
3 %W {3 Ferrous
(4) e i T e i4) Both ferric and ferrous
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132,

135

134

145.

wruss e SR w0
(1 HE

(2) #m

(3 #mw

(4] BT

. Trefofen & 4 el SgsEee co andeffnges
% Ty s wiEa w8 T w f

(1) =t
2 wifiEE
(8 ST
14 #temrm'h'
. Tt 4 8 S0 gmr sedgfEa d o
(1) wrEntis g9 - skegwn
(@) el - I
(3 fewofos swdam - wseE
i4) RIS =i ~ FAHen
e | ° & Agl e 1L = uE | e R

A 4 Beom B 2 A s e w oww
#ifam

el =y L
n,  WEWER i i g sl e
HUR % U A |
b. At i, o B o ol ot s
w1 ffirgdess o =@ gn o
7 uRaEE g % T
st avh e g v
L U RS SR B R
W S T W
s = TE AT R
d. ﬂm v, ﬁ}rﬁﬂﬂﬁ'ﬂﬁﬁmﬂ Eﬁr'Fﬁﬁ
{Fareri) T T Emen g § W
fafimm wiwi & umam #2749
TETF i § |
a b (4] el
Ly i iv iii ii
£2) i v iii i
(3 i il i v
4) i iv i ii

132, Winged pallen grodns are present in

i1y Mustard
2 Mango
{d)  Cveas

_H_;j_]-r"'f:"ar:lu:z

138, After karvogamy lolkvwed by meiosis, spores are
p’ruu.im-mlf_.ﬂ_:;ﬁﬂm'l_' e
(1) e '.'l"f.'-.i'il:.ll"l'!.'_al.'
I8 Alernariy

(4} Snecharontyops

184, Which one iz wrongly matched 7
‘_,'..:l"\f Uniflagallate gamstos
(2l o

Biflagellate coospores

Falvsiphonin
Cremma eu = Marchantic
Brown algae

(4} Unimllularugu::ﬂgﬂ___.-_— Chilorella

136, Mateh the itemms given in Cobammn [ with those in
Column Il and select the eorrect option given
below :

Clalmn [ Clenleesrime I

f.  Herbarium i fli 5 a place having &
eollection o :-rE:-;nr'r;gd..;
plantas and aAfimals

b, Key ii; A list that enumerates

/ merthodically all the
gpecied found in an area
with brief description
aiding identification.

e Mustum I5'm plage where dried and
pressod plant specimens

umtod on theets are
ept.

d Catalogue  iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various baxa,

f h [ d

Ly i v i i

i12] 1] w 111 |

(3 i ii i v

oo L

CHLAA/EE/Page 31

TF T & T 39 | SPACE FOR ROUGH WORK

HirdirEnglish




1.:_15. ﬁjqf,:ﬁﬂ'ﬂ |'_|' b | :n.";"_!:". EHEJ q'iﬂ':h AT # -ﬂ?ﬂﬂ E.-'ﬁ.“ l.,'g‘!".i-ﬂ'l El-f Lh'. !-l:l]l.'\-“-,hl'i.ﬂg i An E"I:'ﬂ.'il'l.'l:l acld derived

B! bormone?

(1) s ¥ Epinephrine
(@)  wEEwE (27 Estradiol
(3) TAEEEH (3}  Eedysone
(4) TR : (4) Estriol

137 Brififar & o Bl S e e = '-';I' 137. Which of the following structures or regions is

. o : B
: 9 A wfien § 7 fne LIJ'T'IEEH_}' .Eul.ed_'-ilt.]'L its funetion ?
Q 3 5 N (1)  Medulla oblonzata ©  controls respiration
(1) g e o TEeE T Eel e e and cardiovascular
%1 b = | refloxes.
(2) EEYREEE ; e B & 3EgE T 2} Hypothalamus : production of
AIGE01S, o e = l relensing hqa'mnnm
A end regulation of
g <L, temperatare,
(3 fofes# . agd % ds = s : /N / i
TaT e &1 w1 AT § ATEA (3" Limbic system : comsists of fibre
& i w7 FEEm wracts that
. : i _ interconnect
(4) wrEm FEEm o W ud g e e different regions of
] AIE W= A hl ¥ | brain; controls
movenent.
- . Wl Corpuseallosum ;' hand of fibers
188, WHE 99 § unedl] w6 FEEw o I e T e connecting left and |
ﬁ ? right cerchral
% hemispheres.
(1) o=y W # W2 EEa g |
(2 wEfm 8 g g 188, The tramnsparent lensinthe hitman sve isheld in
J its place by
(@) =mim 8 g e g - pibcaly

ligaments attached to the efliary bady '
(2} amooth museles attached to the iris
(3)  lgaments attached bo the iris
130, Feifefian 3 & fem o 1 g § ge (4)  emooth muscles attached to the ciliary body

(4} s wEH AE R i g

it & 7
e rie 139. Which of the fbllowing hormones can play a
(1) urEhnete ue yeis . significant role in osteoporoesia 7
(2)  ueTEa ve Azt W (1) Aldosterone and Prolactin
@ wN Begrer Mslrugun and I‘a.rE.Lh]rT-::id hormone

i3]  Progesterone and Aldoasterons

(4) ez ¥R v TREE

{2} Parathyroid bormone and Prolactin I

CHLAAEE/Page 32 T T & [t T | SPACE FOR ROUGH WORK HindVEnglish




140, Fefefas woerdl faem & sz 8 8 v e

140, Among the fullvwing sets of examples for
ol WA ohifEw T dlivergent evolution, seleet the incorrect apiion :
(1) w=a, JumEe w6 i F s A (11 Forelimbs of man, bat and cheetah~"
(2) =WEE, S9% U8 =i w6 gl {2}  Brain of bat, man EMM
(3} =wTED, W v AT T e 13  Heart of bat, man and u_lu:ulah""’f
(4) HTENE, SERE UE gEE 51 wiE F.;;'E of petopus, bat and man

141. Fofefas o 4 SR = om 97 2 0

i1y atffis
(2) EETATEAR T |
(%) wH witmn
(4) Faferom
142, fFiefian sftmmmi @ & #wd spa 7 w0 )

anrila  zmiA & ¢

g, TG

b, HETHTERT

d. syl i
e, TESET SRR
1) b,cTd a

(2) bd™ e

(1) s bwg

4) a.cTHe

143. fem i # weer gm Hwin dwe R s EREE

afef-E | farer g e am R 7

(1) iRl
() frrEnd m
(3) vk
i4) srfiferifog

144, 7F% TUHH & ST ) ofEw HEE 0 EwEm
forera 3zmmoT R 7
(1) ARSI
(2 s fwm
(3 TEwETm
4)  AgEe Bl

146. 39 % T H TARWM B wd e 9 A

e af ¥ s A & 7

Which of the following iz mef an autsimmune
dizpnse 7

L1l I'seriasis
(27 Alzheimer's diseage
13 Rbeumatost arthritis
{4y Vitnhgo
142, Which of the fllowing characteristics represent

Tnbier LA of ..I]lljlli groups’ in humans ?
=, anm«; B =5
b. _ Godomingncte"
[ Multiple allslgs-
d.  Incomplete dominance
e Paolygenic inheritance
(1) b,cande
2) b, denda

\__.;.ﬂvjfa, b amnd ¢
) a, Ccoande

148. In which disease does mosquito transmitted

pathogen  cause chronie  inflammation  of
Iymphatic vesas]s ?

i Elephantiaszis

12) Ringworm disease

{3)  Ascariasis

{4), Amoehiazis

144." The similarity of bona stndctare in the farelimbs
of many vertebrates 15 an example of

¥ Hom ology

2} Convergent evelution
(3] Analogy
4 Adaptive radiation
145, Conversion of milk to curd improves its

nutritional value by increasing the amount of

{1) F=bE D (1} Vitamin D
(2) FiE Biq L}Zﬁrﬁamiu By
@) TR A (3} Vitamin A
4) frfmE (4) Vitamin E
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146, Tr=iafas § 4 fafean faee 4 ofadies & o @
fom mofe & w9.d ol T owem gam &
T &
(1) =egiEm
(21 wrEfE
(3  TEETEn
(4) TR
147, Fr=fafum 4 4 S=m Swrad s 5 99 9w o |
(1) Tg-E wEE g
(%) Al e
i3 uliy 39Eq
4y 7 4F
148. @y 1 o 4 T8 74 & w11 6 98 | e i
A A v Berd 4 4 et B w1 owm
ifm -
i P Laria P
a.  HUmEm I UV-E fafem
b, #fh Fufrm W, ST
TERam (S SR i G A
7u Tt v, Sfa e
a ] o d
(1] = i it iy
(2 iii i i i
(& i ki iv i
(4] i it iV iii

149. T I W 9ol 5 A §

(1) Fagd e Forem sl s s 2 iy

(2) w0 vE T w=iE S § e R
.

(3) WEEH =R T s J e B

(4) T =i weem s & e Ea )
160, “ti=" T BN e i 5 few wm @ s A o

(1) i |

(2) ==id

(31 ewm |

i4) o |

Which one of the following population
interactions is '.-.;_|:‘|_-|,"_~'|!'.I nsed in medical seience for
the production of sutibiotics 7

(1]  Commensalism

2]  Parasitism

13 Mutualism

'.Ejy Amensalism
147, All of the

following are included in ‘Ex-situ
. W —
conservation excep

(11 Wildlife snfar papks~-

(2} Botanical garda .

- 3 ‘
Sacred groves

(4] Beed ban ':,,.ﬁ‘“

14B. Match the dbems given in Column | with those in
Column [Famd seleet the correct option given

below :
Colummn § Cofumn I1
a Eutrophication ¥ TN-H radiation
b,  Sanitary landfl ii.  DNefnmestation
c.  Snow hlindne iil. Mutrient
enrichment
d. Jhum cultivation  iv. Waste disposal
a b . i
611 it i iii v
E‘_l:.';'.'l"ffui iv __L_ if
31 3 iii iv i
4y i i v i
149, In _?.:‘1;; populationf a country,

pre-repreductive individuals are more than
the refproductive individuals,

(2} “reproductive anid pre-refreductive
individuals are equal in number,

(3] reproductive individuals are less than the
post-reproductive individuala.

(4]  pre-reproductive individuals are less than

the reproductive individuals.

150. Which part of poppy plant is used to obtain the

drug *Smack™ 2

(1) Flowers

(2] -!{f!ﬂ'll_-\.'
AT Latex

(4} Leaves
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151.

16,

153,

154,

B S T s F fn o @A whiT g
ot & 7

(1) hCG, hPL, Frrestds, S

(2) hCG, hPL, YRS, BT

(8)  hCG, hPL, v, i, s

(4] hOG, WHAETH, W, e

TR HEHT

(1) "tz & GRS W S sEsg S0 2 08 o
& Trqur i Tkl # |

(2 wE IUDR |

(3} o= 4 o #owEm W e & v
SETFET F1 Tl ® |

4) o wrE-te mife &

AR Yo =1 e i v w2 e
(1) WTEEE U e

(2) TEFTEE Ud TR

(3) W T g
4) T U9 ATea

WHEEH U4 I (FIEE) §Tm Se o

(1) TR o e, o # i e §
] A

@) T E el W e s |
A Aows 6 qies § grm odm b
EECE: e o ek i

(3 wEEE A o e f, s swee
T, 75 # |

(4) TEVEEE W OWERe] @A F, welE AFE #
M W wiEh et # e
At 1 i & W g d

161. Hormones secreted by the placenta to maintain
Pregnancy are
(1} hOCG, hPL, progestogens, prolfetin
.._,'J-l-“"ﬁE!G. hP'L, progestogens, sstrogens
) hCG, hPL, estrogens, relaxin, oxyjdiein

L) G, progestogens, LEtroEens,

placoe -r;_‘:;g]-:i L

The contr i""-'-l-'“'-'Ej-""_]ﬂ.lJ'—

; rrll—qu:'i.f- BstEOgen mecepiors im the uberus.
preventing eggs from getting implanted.

(4) |ia an [UD.

iMTnireases the for aritrakin md
lTncreas: e 0 ofEetroged ar

prevents ovalation i females.

{4} I8 4 post-coital r-"-nr'r;mupt;wz.

=

33/ The amnion of mammalian embryo {8 derived
{ L i,

from

L ectoderm and mesoderm
(2} mesoderm and trophohlast
13 endodermi and mesoderm
4] eotoderm and endoderm

(154, The difference boetween spermiogenesis  and

spermintion is
e ——

(1} In spermicgenesis spermatids are formed,
while in spermiation spermatézos s
formed.

(2) In spermiogenesis spermatozoa from sertoli
cells: are released into the cavity of
seminifeérous tubules, while in spermiation
spermatozos are formaed

{3} In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are
formisd.

(4 n spermiogenesis spermatozea are formed,
while in spermiation spermatezoa are
released from sertoli cells into the cavity of
seminiferous tubules
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1586.

(1 TErrE | W gEeE e el

(2 vaEdl TeR A ST, i B

(3)  vaERE ) WEm R s weh wre §
A

(4) vEGA HAR § HH: FEEAE | WE

156.
fff?lfr_ 2
T
a e SR
h,  TEaer! S

a b
(1) i i
{2 i i
@ 1 i
{4) ii i

157, =9 1 8§ 9 7 w8l = owrey 16w 8 i dif
o Fr fm o e d O et fawen w1 9

wen 1 # %) i wE  Een 1R e A e R
s 49 fam e feEped O O FFT Reemn ow =T

ffafiga 1§ & wH-41 ey e T oA aret i 156, Which
# pe 1 Zm W 3E #98 T

a0
ad g e, e
& d=
ZfE e @ pors |
gl ==
frem % o -
¢

)
o

of the following options correctly

represents tlie lung conditions in_asthma and

emphysema, respectively 2

(1] nfammation of bronchicles; Decrensod
respiratory surface

i2)  Increased ﬂjﬂlmﬁ'-’? surface:
Inflammation of bronchioles

{3}

Increased number .uL)E‘u:l:l':hinlE:E-: Increased
regpiratory sarfiies ¢

Noereasod r;:;ﬂipt:atﬁr!«'
I1'| I:'hu.-n.m r[ti-m of ﬂt‘hi.l'lIl:'H
158. Match the items given in Column I with those in

Column Il and select the correef option given
below

Columna I

4} surface;

Codumn 1T

Betwesn left atrium

a Tricuspid valbge
"'E.'._ and left ventricle

b, Bicuspd valy Betwesn right
ventricle and
pulmonary artery

c. Semilunor valve §iih Hetween right
atrium and right
ventricle

i b o

1) i i di.

20 a1 i iid

o T
4y 1 i iti

157. Match the items given in Column [ with those in
e Column II and select the correct option given
== ot below :
B = i
o a. Tidal volum o SR — 3000 ml.
A -T9HA liﬂi‘iﬂ 1B = 1200 .=,
% M_HH‘ Sl Inspiratory Res .+ 1104) = 1200 mL
i wolume
- F '-FI'-I'fFi'IT-I iii, 500 - 550 E (. Expiratory Rese i B0 = 650 mL
HTHEA volume
d  wEhEe SwEEa iv, 1000 - 1100 B Fl d. Residual voluihe v, 1000 - 1100 mL
a h [ d a b o d
1y i i i iv 1) 1 il i iv
{2 i v ii il 2r i v il il
3 m 1 v 1 { '1_I‘] 1_._ i ii
4y v ikl il i 4y 1w il i i L
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158, @ | § Tﬂ-ﬁ" “?.TE'-" = [T i w8 ¥ ﬁﬁn 158. Match the itera given in Column [ with thoss in

dr o e 8 8 2 faven o

i .
=T |

a, e i,

] =2 il
¢ TR TEL iii
{fr Fege)
d. 7= gEREE v
a ] o
(1) i 1t i
2y i i i
5 R i 11}
4y 1w i i

1650, wew [ & & mi =2 o s 01 o w0 w fae St
An d e m et & 8 5 Bew w1 =

£

FEr

(%)
a. g e
b. T AR fi.
e. AW HWER i,
d. o3 & HUEm iv.

W

a V] ¢
(1l iw v ii
(2 ¥ iv i
(3w i ii
4 v v i

HEN T

wrel # it see Wl
TR B

a9 | T a1 +
-

i, T=51 9 T

. A § e R
d
i
v
iv

iii

= 1
(IrEra 75 & W)
e 9@
GE el
T
ettt i
T Hafem e
d
ili
i

il

Colomn II and select the correci option given

below :

Cofwmn |

_ Glycosaria i
| //

o
b. Gout o iii.

Renal caleah

-5 1]
E d. Glomerular iv
nephritis
i In o
i el i if v
(2] 0 in i
(3 A 1] i
{ v i 1

below :
Column |
iFunetion

i, Uirafiltrati

b, Concentration
off Wit

C Tranaport of
uringe

d. Storage of uris

E_)S‘f//r-' i i
4l w iv i

Codpma [T

Aceamulistion of uric
acid in joints

Maes of cryvstallised
salts within the kidooy

Inflammation in
glommerali

FPresence of glucose in
uring

Mateh the itbems given in Column [ with thoss in
Column I and selact the correct option given

Cadumn [T

{Part of Excretory
Syelern )

» Hemle's loop

Ureter

Urinary hladder

A=H

» Malpighian
corpuscle

Proximal
convoluted tubule

il

CHLAA/EE/Pape 37

TR W i firn T | SPACE FOR ROUGH WORK

HndVE nglish




160, ™5 e tegew (RER) @ Fefeiam @ 7 | 160,

.t e 7@t e ?

Which of the follewing events does nef occur 1N
rough endoplasmie reticulum 7
e — =

(1) HEF = T (1) Protein folding

(2) T TRE W e | 97 Cleavage of signal paptide

() T e {3y Protein glycosvlation

4y wrewtafig AL l Phospholipid synthesis

R —— _ | 181. mlix:h.ui these ::1.-1.Lr:5m1:nt.-e.' ia incorrect ! .

jiphiogih o AR RN T N ol B -
e i_l' J | (% Glveolysis aperales as long as it ig supplied

(g e A AW 2 W T ?_-T?-:r.ﬂr=| with NAD that ean pick up hiyvdrogen atoms.
T # 33E ® T NAD firswen TEW £ | () Glyeolysis orours in evtoRalo"

(3 T-.-'l'ﬁ'nlﬂ'ﬁ'ﬂ'mﬂ I i 9 ﬁ;l B [ Oxidative L:Ilu.-:.plmrj.-!ntiun takes place in

(4} T TR '-Eﬁl‘h'&'lil T auter mitorhondrial membrane. H“\H"J".

fargft 1 ufm w1
L6z, e 3 T wEm, Fraw @ Ee B

1y TR e
(o) = aee wE SER
3y DNATE RNA
(4) o TEETER UE RER
163, faefefian & @ F9-4 i wo% weE S

% afiia & & 7

1) Tlﬂﬁﬁ.ﬁﬂﬁﬁ.mzﬁ
() wrdE, TEENE], T
(@) e, e,
(q) g, e, e
164, wee T ) <@ i
1 A - F A
(g) FeTeTEA TOER — LSRR
(9 TETEE — “fom erE
(4) WETEM TEE - il % AT
165, WEp B TEEW UH mANA ¥ ¥EZ ¥R T

s ) = o wm # | e S
-jmm#ﬂ-?tmmﬁit?

(1) El'ﬁ:.'ﬂ 3
(2) TATEEm

{3y =EEE fouz

(4) THEE E

| 162, Nissl bodies pre mainly enmposed of

Proteins and biphds

i

27 Nucleic acids and SER
() DMAand HNA
{4  Free ribosomes and RER

163. Which of the following terms degeribe homan

dentitiop.?

i1y Theeodont, Diphyoedont, Homodont

2 FPleurodont, Monophyodont, Homodont
"~ Thecodont, Diphyodont, Heterodont

{4} Pleurodont, Diphyodont, H::t_lz_'rg_-dnnL

164. Salect the @I match ;

11 Lampbnish - IinphLT,a]:e bivalents
chrymosimas - y

(@) . Subsietecentric ~ L-ah chromososmes
chromosomes \-""w

(3] BEOMeE .:.-"'F':E}:.ﬂhmmummEﬁ

I Polytene — Oocytes of amphibians
Chromosomes

165, Many ribosomes may associate with a single
SRMA to form muoltiple copies of a polypeptide
simultaneously. Such strings of ribogomes are

permed ps.
i Folysome

(27 Plastidome
i3 Polyhedral bodies

(4] MNuckeozome
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166. 7N ¥ W & gEn fawm Hit Genfaty frg w=r
Bf R 2
(1) =g Ieqftada
(2) ifireh gy w&" uitEds (weored fafia)
(3) WieewH
(4) oY IqiEd

167. @y 1 ® § 7€ Hgl 1 & 11 Hiwei @ fyem Hitsw
R f= e T fowedt # @ @ fowew @1 =
m:

Ty [ & 11

TYUGHET SR i T 3 1 faee

RCICiBci)) ii. e TIEE

Easceic iii. frafive green

a

b

ii

c
(1)
(2)
3)
(4)

iii i

ii iii i

i iii i

ii

168. T | HIA-71 AT H1 9 77 & ?
(1) =TT
(2) TR
(3) ETEATHS A

(4) 39EH

iii i

169. T% fiT % HIfET 9.1 %7 AGGTATCGCAT ® |
3% g STefad mRNA F1 Heifird sh5 &1 2 2

According to Hugo de Vries, the mechanism of
evolution is

(1)
(2)
(3)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

167. Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column IT
a.  Proliferative Phase i., Breakdown of
endometrial
lining

b.  Secretory Phasg t.. Follicul 1ase
c. Menstruatio iii. Luteal Phase
a b C
(1) ii i 1
Jﬂr)/:ii iii i
— — ¥
@ i iii ii
(4) il i il

168. All of the following are part of an operon except
MESHPR Sl
(1) an operatos
7~ an enhancer
(3)
(4)

169. AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

sequenge of the transeribed mRNA ?
*O&\E}Q))A(‘:GUAUCGCAU
(2) ACCGHAUGCGAU

structural genes

a promoter

(1) AGGUAUCGCAU OB

(2) ACCUAUGCGAU od\

(8) UGGTUTCGCAT ———S T UGGTUO¥CGCAT

(4) UCCAUAGCGUA (4) UCCAUAGCGUA

1'%. A woman has an X-linked condition on one of her

170. T &l 3w X O H X-He e ¥ | 78 T’R:E( X _chromosompes. " This chromosome can be

e g g 2 )'\ inherited by i %Y

(1) Had Eﬁ?ﬁ q . (1) Only daughters

(2) had Sar-gifadi /At & (2) Only grandchildren

(3) ad g A (3) Only sons

(4) o @ g e A |

\Moth sons and daughters
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171, Frefefim # 8 wE-H w2 i A m RO
T T wE WA i

(1) & HIrE

oy R (TI1ETE ) AR
(g) e TR

(4 T i

172, & 1 A 2 0 et e 16 e 1 firsms =Fafm

o 93 Boom BEew § 4 oEt Eeed w1 ow

i
= I i

a,  EEEEATER Ty J:I[E--ﬁ-l

b, =T i, T EEE

e, TR 111, e feafate
il b [

{1y il il 1

oy 5 111 i

(31 1 i iii

4y 1 i1 i

7. Bty 4 @ s v fen = s T

17

1) ufEm

(Z) gl
9y
(4) =R

191 Which of the follewing gastric_cells indirectly

hielp in erythropoiesia

r r—

i1y Chiefealle
(21 Goblet cefle
i3y Mlucous cells

M;. rietnl cells

172, Match the items given i Column | with those in
Colamn 11 mnd select the correct option given

b oy

Cerl i !

a,  Fibrinogeqg, 14
b lf;luh;:“.lrf‘ﬂ..

Colwmn I
Dsmotic balancs

Blood clotting

s Adbmaminn Mefence mechanism
y b i
(11 i il i
2 4 i i
ar 1 il il
,__5.;1:4""1_ 11 1Y

178. Which of the following

recpirstory disorder ?
e,

iz an occupational

_—

i1} Anthracis

(21 Botulism
__ty/;{lim'.h

4} Emphysema

174, Caleiom -~ is imporiant’ 1m gkeletal  mamscle

contraction hecanse it
[ hinds to troponin to remove the magking af

174, ST Ol w5 § SFwan wgwg & wiks wE : .
g I ~ S A 4 active siteg on &clin ior myosin.
{1 '{I’-ﬁﬁ'-’lH?Hﬂ-‘-!Uﬁ"‘-l' E i o o MTEI T
. ; ﬁm::- E ’ : i3}  detpches the myosin head from the actin
F g T & oEfE & T filament.
- () YA 0 @ A W S G i3} nelivates the myosin ATPase by binding to
(3 et wAndi @ dow 38 e == L.
(4} =EES @i A e Ero i L L TR i4) prevents the formation of bonds between
Frfor 1 TR R - the myosin cross bridges and the actn
filament,
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176,

176, FE%h TR F H dga @ ogwn #wm w
qred 79 4 =i va g g sl k)
i1y sk
2y v
{3 e
{4)  sfffegeita
fafemen = wfl Sl & e o o 2 0 176.
(1) 4 e & o st =1 wm et E
(2) ¥ Torm i g & o s = w a §
{3) 78 waiE 99 = e e e
UH # R
i4) 30 E WHR W S ard §

177.

Pt o 8 #i9-8 wee 51 siw0E $) 9o o) 177,

176, Identify

the  vertebrate proup of animals
characterized by crop and gizzard in its digestive

(1) Amphibis
- A
(3) HReptilia
4% IVJ:-=r-:-i.'|".1'|‘|_1,r||_l-5

Ciliates differ from all other protozoans in

(1) uszing Nagells for l?ﬁ-untinu

2) using peeudopodtyder capturing prev

() “having a rontra r_]_i:h vaemole for removing
exceds Water

._F;.-l-""-.r.i'.:l-. ing tw Ly pets of nuclei

Which of the following features is used to identify

FEE AR ? | o male cockroach from a female cockroach 7
. ; . o i1} Fresence of o bost shaped #ermum on the
(1) A9 9w WA F s f sl A 5" abdominal soETen i
Y 121 Forewings with darker tepmina
(2) M TR GATeeE Wi ST g I esence of caulal <tvles
i3 Y= T e 41 Presence of anas! cerci
(4) J_[.-:_'.,—I.q Eﬁf K 178. Which one of thess antmals i ot A
; g homestherm ¥ =
178. FieriEa o |7 wR-m a= o a9 B 2 —
A (1} Mocropus
2y A [£] I.Zr?rm.".';.ﬂ.-
(8) He _13¥ Chelone
4) fERE (4) Psittoculn
179, Fr=fafan T"ﬂﬁ oA AN I wEEE T w7 | 179, Which of the following animals does nod undergo
metamorphesis 7
thy el ,1_ i
ilq ._,mr'-hw_'-“:" Yarr A D™
el (o 2)  Motl
- ¥ ath
(3 =g Tk
: (3} Tunicaja-
v R (4r  Starfisk
180. Fn l‘- :.I-E_I A8 FH-H i Hrer § 59 9% % | 180, Which of the following organisms are known as
FAH A A E T chief producers in the oceans 7
(1) I (1) Dinoflagellates
(2 HTEEEEATE (2) Cyanobacteria
(4]  EE L’_',.'J'I"f'l.'-"?alu:n:'.
{4 TF-'I'TTS'E-T:': 4}  Euglenoids
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